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A, FWe-AmHeeT . AT, AT
B. e II. = G@eer e
C. =16 L. =30 =90 CoTn
D. STGACEt IV. FeHA (AF
A, Wims Mmem [ FTEG, Hom
B. Tardy 1I. Tmfx weerm &
C. Hom III. %% &m dues
D. usee IV. EEF &K

Choose the correct answer from the options given below:

a0 B =

Al:1

A2:2

A3:3

Ad:4

Objective Question

AL B-1, C-TII, D- IV
. A-TI, B-IIL, C-IV, D-I
AL B-1V, C-IIT, D-T
. AL, B-1V, C-I, D-II

9212190 » pateh Tist T with List II
LISTI

& =t =iy I

© W :
B. @i=w SGAIsf 1i
C. SIEHEEN 1.
D. WEEE Iv.
A, AfErefE TRRm onemt 1.
B. T/AT MTEDW I
C. THCORRT II1.
D. kamT! IV.

LISTII
SETEE Gl

fIafg aF fAEfole®
e T I e R P L e e
26 cafem

gz weafugiEf

Thel T°F e st ast
TReTHT T°76F 8°F dAR8 REF
Mmefesst koofe

Choose the correct answer from the options given below:

B R

Al:1

A2:2

A3:3

el Bt 6100 DtV
. A-TI, B-IL, C-IV, D-I
AL B<TV, C-1I, D- 1
AIEBL SV DT

file:///E:/NCET 1/ZIP/31_|_Live_Eng/31_I_Live_Eng_401-800.html

13/174



8/9/23, 6:49 PM 31_|_Live_Eng_401-800.html

Ad:4

Objective Question
420 21220

Match List I with List IT
LISTI LISTIT
T T
A. Stea i‘rﬁ% I =8 =g Se
B. gﬁ;le, AT A 1. CEEs @18 9o
Exfrat faoifge
C. | gaar =ifire I =5t g 90
D. =|<% (T IV. TrEat =i 2
RUTMAmT a3
Ak p——y 1. Tmreps R sE
B. R TI0-R % T o
T
FERRNT AT T
C. oxs -y III. Trers B s
D. ®d8gwe IV. zoraf #o ge
Choose the correct answer from the options given below:
1 AT BT, 01TV, D-11
2. A- 11, B-IIL, C-IV, D-I
3 AT, BTV, C-<IIL, D=1
4. AL, B-1, C-IV, D-IIT
Al:1
A2:2
A3:3
Ad:4

Objective Question
42121301

feguet s W aa fegue wusw (1 3% 4 7w wr IR Fafga g g

g0 SIS §9-86 ANIP] 3| TBTaes Ms-a% S AR Ydl ISIda AR IP1al anie] &Iy | 9 Tyeiers @R YerT=R
HIZYIe! T | NGRS SIS Gae! W 313 arie| Aee | TS o Sae! Wil afd el o B3R gl
YAT- <315l TAa-TEdiD] SISl ok sy gare! Uil gasl, Sid AU WUH! | Ty Gga® gIeR Yl “HI, Tei4d 4], B
B a9 Delg U 511 Foo] WA Y- <3 JeEIE 74 UH d 6% A1al 548 -, A WA SATS], WRIAD! S

TR CHT YIB! TBTATEE Uad Hudls g 2

1. TP TS AT TR-IRAT THBT TR IPeE
2. Me-a%g R BidH Afage

3. TIT-a%IT TEHT a9 HHEE

4. TTS-3] AUR T A-96E

Al:1
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A2:2

A3:3

Ad:4

Objective Question

fegue! srg=de ek aa fegue wusw (1 3% 4 7m) w1 IR fFafga g g1

g0 SIS §9-89 ANIP] 3l | TaTees Me-a%] S AR Yal ISIda (AR IPal aniee &y | 9 TYeiers @R JerT=R
HIZYTIep! T | HITERETE SIeTH I Sl ot WK1 313 Arie| A | Iars ok $s! Wil afd el o 2R gl
YAT- <3igl SAaT-FEdie] SISl ok i3 gee! uleuls gael, id AU WU |» Ty Gga® gIeR Yl «HI, T8id 4], B
- (o Belg U 811 Téo] WA Y- <3 JIeEIe 74 U d 8% A1al 88 (-, A WA SATs], Wi S

422 21302

31_|_Live_Eng_401-800.html

S WA S T o dibd! 32

1. TG ATSaTs

2. Y 89 IS

3. IS WIsd TSI 1
4. JeRTaTE I aean e

Al:1
A2:2
A3:3

A4 :4

Objective Question

fegum! g weR 99 feguet wysw= (1 3 4 Tm) &1 SWR FRifga v g

T SIS §9-8% arid! il | TaTes Ms-avg S TR Yal IS fawaR Soial anie iy | 9 Tiyeiers R SRR
HIZYIe! ]| MIERETIE SIeTH TR i Go@] Wl 313 arie! Aee | Tl ek S[os! Wi afd arHl oyl B gieR
L. <3figh Taa.TEdls] TSl o sifusifa gae! ufeufs gast, Sia TH w@us! |1» i Ty greR Yl <Hi, Tei fadl, B
- o Te1e o Bl So@] WA Y- <39 JIeEIE T4 U d 8% A1G] 0o 4, T WA STST, WRIA! S

42321303

TRATR P B T

1. SigaHl 9 U bimer g
2. 1E] fl-TRHT g1 U T Ramept ==
3. Al AT Wl UL UHSB D] Sl
4. SgeT Sl SiST

Al:1

A2:2

A3:3
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A4 :4

Objective Question

42421304 ; meaﬁmnm(lﬁ4maﬂw%ﬁﬁql

10 ST S9-89 arid! fl | TMaTeE Ms-av S TR Yal Isde fawaR Soial anie! iy | 9/ yeians R TR
HIZYIo! ]| HIfEREIE SiaTH] TR i Goo| W 313 ani®! Aes | Tl ek Sod! Wi afd arHl oyl s giR
Y1 <35 Taa.aEds] SISl o sifusifa gag! ufeufs gasr, Sia T @] 1» My gy greR 1l <HI, Teia fadl, i
T foT Te1s o gl @ WA Y- <3 FIeEIE T4 U d 8R A1gl 0 [+, A WarRAid! SHTs], WIAd! S

Helg I 1E PRI B gD

1. ST T

2. [1I5d oH
3.5

4 giell-gd s

Al:1
A2:2

A3:3

Objective Question

425 21305 i
A I PR oo G| 09 1S @ T deh] P Ul IUYH 552

Al:1
A2:2
A3:3
Ad:4

Objective Question

I TP HeH H aTe AR efdel Ffegol &2

1. PeleE fdgM U= US|
2. SfgTel a2 e fefAfeg

3. 39 Bfecd gfedl 31
4. poad We] WRAST Al Il
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Al:1

A2:2

Ad:4

Objective Question

7|1507 T H TR HiAS! f9Ug $81

A2:2
A3:3
Ad:4

Objective Question

428 21308
SfRTA AT JTaTs SToTd Wes I a1 $+ Rifdrs! 3fad g

1. dIFHRT
2..349H

3. qa
4. SH!

Al:1
A2:2
A3:3
Ad:4

Objective Question

42921309 5 <
ARG WU YUP| &< P BI?

P

Al:1
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A2:2
A3:3
Ad:4

Objective Question

430 21310 _
“UTHH] YHT3AD] AN [HISUDT 33 15 U3¢ IR YagHl & U2

1. TERI
2. farep

3.3
4. 097%

Al: 1
A2:2
A3:3
Ad:4

Objective Question

431 21311 o P
T gregare <REET af-ier $ TUae $ FuHl 3Us §?

1. fagurare g
2. f[aQyurEre fawo
3. Tf1€Te G

4. TTETE faRIwor

Al:1

A3:3
Ad:4

Objective Question

432121312 2
qcIe! P [AHear] YU Hd Yeag e TIRS WsgH! gaiaard g2

A2:2
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A3:3
Ad:4

Objective Question

433 21313 : ey %W@Eﬁ“

1. @IFR
2. PR
3. HUFR

4. 9NER
Al:1
A2:2
A3:3
Ad:4

Objective Question

43421314 - -
dell o gl Yah H HUTell HINIHT HTH 1R 82

T
£

Al:1l
A2:2
A3:3
Ad:4

Objective Question
43521315
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Ta fegu@ Hidgeans voelend drare! HaAT R g 3|

A, eRUfIeR HISTar
B. Y& =
C. 3ulg YIS
D. HIdRH ¥g

E. 3Hiig

ad fagus! s eie=are I8l Stk 81g 8

1.D,A,B,C.E
2.B,D,A.E.C
3.B.D.E.A.C
4.D.B.A.E.C

Al:1

A2:2

A3:3

A4 4

Objective Question

436 21316 s . o s -y .
dd [agUep] q?ldb'{f‘ﬂlir D ddl. DYUT, UG, Hd- I Alch bl h HHT THlTU ﬁa@ml

A. STGHIIT 3% HTA A@IIHT SHIEHI
B. STbagdl

C. g gul

D. §P< gi-axT

E. UgTS! Sila"

dd [Gsual [P dgwale el 3tk B 8H:

1. BB AE 1D
2.6 A BB
3.C,A.B.E.D
4. C;B.A, B

Al:1

A2:2

A3:3

Ad:4

Objective Question
43721317
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@] P P Vet “HHA B gaigard! g2

ad fagus! s eie=are I8l Stk 81g 8

Al:
A2:
A3:

A4 :

A Ugdl
B. 4H
C. WA
D. O«

E. ¥R

.A.CXDHHA
LA, CYEHHA
.C.DXEHHA
AXDHHA

b =

EE V)

Objective Question

438 21318

DI P P ez e &1 fguiands g1

ad fague! fdede=aic J&l SR g B

Al:
A2:
A3:

A4:

A, e
B. 51
c. A
D. F=m
E. Yo

. A.CXDHHA
.B.CXEHHA
.C.DXEHHA
.A.BXDHH

[

IS )

Objective Question

43921319
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qa g 1A feguDT BT 31 Jeit 11 71 [G3UDT fo-Te1 HYTHR =g 814 -

T

= I

. |watcd TS B

I [FgARE g

. |e=mcies! T wu | 1 [RigpHR I3

ol Fol =] =

Thi=g3

SR - YU U3l ] 11 [gr] @

IV. [SEEEIG U

FafaRad [aeel O 9 981 Itk &1 99 SO ;

1. A-IV, B-I. C-II. D-III
2. AL B-I. C-IV. D-II
3. A-IL B-L. C-IV. D-III

Al:

A2:

A3:

A4 :

Objective Question

ad g 1 11 1S5 Ul Weg i gl 11 11 fegueT fa=ar sl g 81y -

440 21320

4. A-IV, B-I1I. C-1. D-II

e 11

T 1
EE

er

[T il

GEi

e 1L

HH

Olo|W] e

il v

B

Fafaiad faeel O 9 98! 3R &1 99 Sl -

Al:

A2:

A3:

A4

ATV, B-IIL C-ILL D-I
AL B-IV, C-1. D-II
. A-IV. B-IIL C-I. D-II
cA-IL B-IV. C-1. D-III

Objective Question

44121501
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IIpounTaiTe TERCT H OTBETHTE HA BOOPOC

ToBOpAT. IBIKEHHE — 3T0 KH3HE. A COBPEMEHHEI YeI0BEK, KAK IPABILTO, CTPATAeT OT THIIOTHHAMHH — HEJOCTATKA JEIKEHHA.
Topoackoil TPAHCIOPT, MAIIHHA, THOT B JOME — BeE 3T0 c031a8T Jerunt ABicacHNA. MoxeT OBITh, T03TOMY MHOTHE BBEIOHPAOT
AKTHBHEIS (POPMBL OTIBA — TYPH3M. IYTEIISCTEHA. EXeroaHo o Hamel cTpaHe MyTeMecTEYeT OKOMIO MIUIIHOHA USI0BCK.

Bropo. xoTopoe opraEnsyeT TypHCTCKHE MOS3IKH, MOKET MPEITOKHATE CAMBIE PASHOOOpA3HEIE MAPIIPYTHL: HA 0T, HA CEBEP, HA BOCTOK
cTpasel. TypHCTeKHe IYTEBKH NPHOOPETAKT OPTAHHI0BAHHEIE TYPHCTEL, OHH eIyT Ha 0A3bI OTIBIXA, B TYPHCTCKHE Tarepd. OTKYIA
COBEPHIAOT HHTEPECHBIC IIOXOIEI H 3KCKYPCHH.

HeopraunsosadHble TYPHCTE BRIOHPAIOT MAPIIPYT caMH, TarKoH TypHCT caM 3a00THICA 0 CBOEM IIHTAHHH, XFHUEBET B MalaTke. Momogele
MACTO MPEINOUHTANT HMEHHO HEOPIAaHH30BAHHEIA TypH3M. DEIBaeT. 4TO B IyTH BOSHHRANT TPYIHOCTH, HY TYPHCTHI BCEIJa IOMOTAIOT
IpyT IpyTy. BOT uTo pacckazal oIHH TypHET.

«IToMHEO, MBI IIIBLTH © TOBAPHIEM Ha DaHIapKe IO 03€py, ¥ HAC KOHYHIHCH IPOIYKTEL a ISPSBHH MOOTH30CTH He 0BIT0. Beuepon Mer
BCIPETHTH MOIOIYEO Iapy: My:Ka H *KeHY. OHH ILTBLIH HaBeIpeuy HaM. Mel nosHakoMHTHeE. OHH NPeXTOAIIH HAM X110, Hall. KOHCESPBEL
Takme BeTpeun Op1BaroT wacTo. JlroIH 3HAKOMATCA B IMYTH. JarOT IPYyT IPYTY CBOH agpeca. Tak MHOIIA HATHHASTCA IPY:AOa. KOTOpAd
IPOTOTKASTCH BCH JKH3HE.

MeHHO B TYpHOXOIE A JeCATH IeT HA3aI MOo3HAKOMHICA ¢ Anekcannpon. I xo1a A :xkusy B Mockse. a oH B fIpocnasie, 3To He MeIaeT
Hameil apyxoe. Tenepe ¥ Hac ceMPBH. ISTH HO MEL KAk H JSCATE JI€T Ha3al, BCEIAA OTABIXASM BMecTe, MEI BEIOHpPaSM HOBBIS HHISPECHEIS
MapIIPYTHI MoXeXa HiIH noesaxd. Ho Temeps B HammeM IoXoIe YUAcTBYET BCA CEMBA»

Touenmy MHOTHE BEIOHPAIOT AKTHBHEIS (POPMBL OTABIXAT

. TIOTOMY HTO COBPeMeHHBIH TeT0BeK CTPAagacT OT IHIOIHHAMHH — HETOCTATKA IBIKEHHA

. TIOTOMY 9T0 HEOPTAaHH30BAHHBIE TYPHCTEI BEIOHPAROT MAPIIPYT CAMH

. IOTOMY 4TO OHOPO, KOTOPOES OPraHH3YeT TYPHCTCKHE MIOS3IKH, MOKET NPSII0KHTE CaMBIE PA3HOOOPAsHEIS MapIIPYTEL
. TIOTOMY 4TO €XSTOJHO II0 HAIISH CTpaHe MyTelleCTBYET OKOI0 MILIHOHA YSI0BEK

R O

Al:1

A2:2

A3:3

A4 4

Objective Question
44221502 ‘
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IIpounTaiTe TERCT H OTBETHTE HA BOOPOC

ToBOpAT. IBIKEHHE — 3T0 KH3HE. A COBPEMEHHEI YeI0BEK, KAK IPABILTO, CTPATAeT OT THIIOTHHAMHH — HEJOCTATKA JEIKEHHA.
Topoackoil TPAHCIOPT, MAIIHHA, THOT B JOME — BeE 3T0 c031a8T Jerunt ABicacHNA. MoxeT OBITh, T03TOMY MHOTHE BBEIOHPAOT
AKTHBHEIS (POPMBL OTIBA — TYPH3M. IYTEIISCTEHA. EXeroaHo o Hamel cTpaHe MyTeMecTEYeT OKOMIO MIUIIHOHA USI0BCK.

Bropo. xoTopoe opraEnsyeT TypHCTCKHE MOS3IKH, MOKET MPEITOKHATE CAMBIE PASHOOOpA3HEIE MAPIIPYTHL: HA 0T, HA CEBEP, HA BOCTOK
cTpasel. TypHCTeKHe IYTEBKH NPHOOPETAKT OPTAHHI0BAHHEIE TYPHCTEL, OHH eIyT Ha 0A3bI OTIBIXA, B TYPHCTCKHE Tarepd. OTKYIA
COBEPHIAOT HHTEPECHBIC IIOXOIEI H 3KCKYPCHH.

HeopraunsosadHble TYPHCTE BRIOHPAIOT MAPIIPYT caMH, TarKoH TypHCT caM 3a00THICA 0 CBOEM IIHTAHHH, XFHUEBET B MalaTke. Momogele
MACTO MPEINOUHTANT HMEHHO HEOPIAaHH30BAHHEIA TypH3M. DEIBaeT. 4TO B IyTH BOSHHRANT TPYIHOCTH, HY TYPHCTHI BCEIJa IOMOTAIOT
IpyT IpyTy. BOT uTo pacckazal oIHH TypHET.

«IToMHEO, MBI IIIBLTH © TOBAPHIEM Ha DaHIapKe IO 03€py, ¥ HAC KOHYHIHCH IPOIYKTEL a ISPSBHH MOOTH30CTH He 0BIT0. Beuepon Mer
BCIPETHTH MOIOIYEO Iapy: My:Ka H *KeHY. OHH ILTBLIH HaBeIpeuy HaM. Mel nosHakoMHTHeE. OHH NPeXTOAIIH HAM X110, Hall. KOHCESPBEL
Takme BeTpeun Op1BaroT wacTo. JlroIH 3HAKOMATCA B IMYTH. JarOT IPYyT IPYTY CBOH agpeca. Tak MHOIIA HATHHASTCA IPY:AOa. KOTOpAd
IPOTOTKASTCH BCH JKH3HE.

MeHHO B TYpHOXOIE A JeCATH IeT HA3aI MOo3HAKOMHICA ¢ Anekcannpon. I xo1a A :xkusy B Mockse. a oH B fIpocnasie, 3To He MeIaeT
Hameil apyxoe. Tenepe ¥ Hac ceMPBH. ISTH HO MEL KAk H JSCATE JI€T Ha3al, BCEIAA OTABIXASM BMecTe, MEI BEIOHpPaSM HOBBIS HHISPECHEIS
MapIIPYTHI MoXeXa HiIH noesaxd. Ho Temeps B HammeM IoXoIe YUAcTBYET BCA CEMBA»

Koraa mosnakoMmIca TyPHET ¢ Alerkcanapon?

1. 9 net Hazaz

2. 10 meT Hazag

3. B IPOLITIOM TOTY
4. B mocaexHeM rogy

Al:1
A2:2
A3:3
A4:4

Objective Question
44321503 ‘
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IIpounTaiTe TERCT H OTBETHTE HA BOOPOC

ToBOpAT. IBIKEHHE — 3T0 KH3HE. A COBPEMEHHEI YeI0BEK, KAK IPABILTO, CTPATAeT OT THIIOTHHAMHH — HEJOCTATKA JEIKEHHA.
Topoackoil TPAHCIOPT, MAIIHHA, THOT B JOME — BeE 3T0 c031a8T Jerunt ABicacHNA. MoxeT OBITh, T03TOMY MHOTHE BBEIOHPAOT
AKTHBHEIS (POPMBL OTIBA — TYPH3M. IYTEIISCTEHA. EXeroaHo o Hamel cTpaHe MyTeMecTEYeT OKOMIO MIUIIHOHA USI0BCK.

Bropo. xoTopoe opraEnsyeT TypHCTCKHE MOS3IKH, MOKET MPEITOKHATE CAMBIE PASHOOOpA3HEIE MAPIIPYTHL: HA 0T, HA CEBEP, HA BOCTOK
cTpasel. TypHCTeKHe IYTEBKH NPHOOPETAKT OPTAHHI0BAHHEIE TYPHCTEL, OHH eIyT Ha 0A3bI OTIBIXA, B TYPHCTCKHE Tarepd. OTKYIA
COBEPHIAOT HHTEPECHBIC IIOXOIEI H 3KCKYPCHH.

HeopraunsosadHble TYPHCTE BRIOHPAIOT MAPIIPYT caMH, TarKoH TypHCT caM 3a00THICA 0 CBOEM IIHTAHHH, XFHUEBET B MalaTke. Momogele
MACTO MPEINOUHTANT HMEHHO HEOPIAaHH30BAHHEIA TypH3M. DEIBaeT. 4TO B IyTH BOSHHRANT TPYIHOCTH, HY TYPHCTHI BCEIJa IOMOTAIOT
IpyT IpyTy. BOT uTo pacckazal oIHH TypHET.

«IToMHEO, MBI IIIBLTH © TOBAPHIEM Ha DaHIapKe IO 03€py, ¥ HAC KOHYHIHCH IPOIYKTEL a ISPSBHH MOOTH30CTH He 0BIT0. Beuepon Mer
BCIPETHTH MOIOIYEO Iapy: My:Ka H *KeHY. OHH ILTBLIH HaBeIpeuy HaM. Mel nosHakoMHTHeE. OHH NPeXTOAIIH HAM X110, Hall. KOHCESPBEL
Takme BeTpeun Op1BaroT wacTo. JlroIH 3HAKOMATCA B IMYTH. JarOT IPYyT IPYTY CBOH agpeca. Tak MHOIIA HATHHASTCA IPY:AOa. KOTOpAd
IPOTOTKASTCH BCH JKH3HE.

MeHHO B TYpHOXOIE A JeCATH IeT HA3aI MOo3HAKOMHICA ¢ Anekcannpon. I xo1a A :xkusy B Mockse. a oH B fIpocnasie, 3To He MeIaeT
Hameil apyxoe. Tenepe ¥ Hac ceMPBH. ISTH HO MEL KAk H JSCATE JI€T Ha3al, BCEIAA OTABIXASM BMecTe, MEI BEIOHpPaSM HOBBIS HHISPECHEIS
MapIIPYTHI MoXeXa HiIH noesaxd. Ho Temeps B HammeM IoXoIe YUAcTBYET BCA CEMBA»

Tae musét Anexcanap?

. B Mockse

. B Iletepoypre
. B Slpocnaeae
. 8 Cuoupn

A R

Al:1

A2:2

A3:3

A4 4

Objective Question
44421504 ‘
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IIpounTaiTe TERCT H OTBETHTE HA BOOPOC

ToBOpAT. IBIKEHHE — 3T0 KH3HE. A COBPEMEHHEI YeI0BEK, KAK IPABILTO, CTPATAeT OT THIIOTHHAMHH — HEJOCTATKA JEIKEHHA.
Topoackoil TPAHCIOPT, MAIIHHA, THOT B JOME — BeE 3T0 c031a8T Jerunt ABicacHNA. MoxeT OBITh, T03TOMY MHOTHE BBEIOHPAOT
AKTHBHEIS (POPMBL OTIBA — TYPH3M. IYTEIISCTEHA. EXeroaHo o Hamel cTpaHe MyTeMecTEYeT OKOMIO MIUIIHOHA USI0BCK.

Bropo. xoTopoe opraEnsyeT TypHCTCKHE MOS3IKH, MOKET MPEITOKHATE CAMBIE PASHOOOpA3HEIE MAPIIPYTHL: HA 0T, HA CEBEP, HA BOCTOK
cTpasel. TypHCTeKHe IYTEBKH NPHOOPETAKT OPTAHHI0BAHHEIE TYPHCTEL, OHH eIyT Ha 0A3bI OTIBIXA, B TYPHCTCKHE Tarepd. OTKYIA
COBEPHIAOT HHTEPECHBIC IIOXOIEI H 3KCKYPCHH.

HeopraunsosadHble TYPHCTE BRIOHPAIOT MAPIIPYT caMH, TarKoH TypHCT caM 3a00THICA 0 CBOEM IIHTAHHH, XFHUEBET B MalaTke. Momogele
MACTO MPEINOUHTANT HMEHHO HEOPIAaHH30BAHHEIA TypH3M. DEIBaeT. 4TO B IyTH BOSHHRANT TPYIHOCTH, HY TYPHCTHI BCEIJa IOMOTAIOT
IpyT IpyTy. BOT uTo pacckazal oIHH TypHET.

«IToMHEO, MBI IIIBLTH © TOBAPHIEM Ha DaHIapKe IO 03€py, ¥ HAC KOHYHIHCH IPOIYKTEL a ISPSBHH MOOTH30CTH He 0BIT0. Beuepon Mer
BCIPETHTH MOIOIYEO Iapy: My:Ka H *KeHY. OHH ILTBLIH HaBeIpeuy HaM. Mel nosHakoMHTHeE. OHH NPeXTOAIIH HAM X110, Hall. KOHCESPBEL
Takme BeTpeun Op1BaroT wacTo. JlroIH 3HAKOMATCA B IMYTH. JarOT IPYyT IPYTY CBOH agpeca. Tak MHOIIA HATHHASTCA IPY:AOa. KOTOpAd
IPOTOTKASTCH BCH JKH3HE.

MeHHO B TYpHOXOIE A JeCATH IeT HA3aI MOo3HAKOMHICA ¢ Anekcannpon. I xo1a A :xkusy B Mockse. a oH B fIpocnasie, 3To He MeIaeT
Hameil apyxoe. Tenepe ¥ Hac ceMPBH. ISTH HO MEL KAk H JSCATE JI€T Ha3al, BCEIAA OTABIXASM BMecTe, MEI BEIOHpPaSM HOBBIS HHISPECHEIS
MapIIPYTHI MoXeXa HiIH noesaxd. Ho Temeps B HammeM IoXoIe YUAcTBYET BCA CEMBA»

T'1e BeTpeTHaca TypHCT ¢ MoI0I0H mapoH?

. B UEPHOM Mope
. TIO peKe

. B KaBraze

. IO 03epy

A R

Al:1

A2:2

A3:3

A4 4

Objective Question

445 21505 : ‘
Pacmomomute CASIVIOITHE YACTH NPEIIMKEHIA, YTOORI CO3IATH NPABHIBHOS MPEIIOKEHHE!

.B 16 met
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. BEIXOJIHT

. 3AMYIE

. 32 KHA3A Muxarna Jamxosa

o
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e
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446 21506 5
Pacniomomute CISIVIOITHE YACTH MPEAT0KEHHA, YTOOBI CO3TATE NPABHIBHOES MPEIIOKEHHE!
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Objective Question

447 21507 5
Pacniomomute CISIVIOITHE YACTH MPEAT0KEHHA, YTOOBI CO3TATE NPABHIBHOES MPEIIOKEHHE!
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Objective Question

44821508 5
Pacniomomute CISIVIOITHE YACTH MPEAT0KEHHA, YTOOBI CO3TATE NPABHIBHOES MPEIIOKEHHE!
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. THTape
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Objective Question

449 21509 T -,
CoOTHECHTE CTOTOHK-A ¢ CTOTOHKOM-b

Cronbux-A Croaoux-b

H3EECTHEIH 1. |epensa

TpVaHAad II. | xvoommnx

HOBEI® II1. | zama=a

o[a[w]>

BaKHOE IV | ropoga

- A-IL B-IIL. C-IV. D-I
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AL B-LL C-IV. D-III

o =

L

Al:1

A2:2

A3:3

Ad:4

Objective Question

450 21510 2 =,
CooTHeCcHTE CTOIOHK-A ¢ CTOTOHKOM-b

Cronbuk-A Croaoux-b
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T REE
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Objective Question
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CooTHeCcHTE CTOIOHK-A ¢ CTOTOHKOM-b

Cronbuk-A Croaduk-b
A | goexars 1. | xumry go xoHDg)
B. | somectn II. | cymmn o Takcy
C. | sountats 111 | 30 mnomazn
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Objective Question

452 21512 % =
CoOTHECHTE CTOTOMK-A ¢ CTOTOHKOM-B

Croadnx-A Croaouk-b
A | ManeHsrHA MATEHK MEIIAET I | o ayumem oyaymem
B. | MazeHpKHI MaTBIHK HIIET I1. | ceomME poguTenIMH
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Objective Question
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Ad:4

Objective Question

454 21514

Hatama u Pamermn sHator ... .
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Objective Question

455 21515

JafiTe moskadicTa., ... .
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Objective Question
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IIytus oyger s Hema ... .
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Objective Question

457 21517 < = = ‘
JlafiTe aHTOHHM K CIIOBY «TEMHBIH»!

. CBET/IBI

. IIHPOKHH

. Ty CTEIHHBIH
. OCOOSHHBIH
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Objective Question

458 21518 2 &
JlafiTe CHHOHHM K CJIOBY «TPYIHELN»!

. TOBKHIT

. CTTOMKHBIHN

. IpocTOl

. OTHOPOIHEBIH

B
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A2:2

A3:3
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Objective Question

459 21519 5 %
JlafiTe aHTOHHM K CJIOBY «MOIOIOH»!
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. MATIEHBKHI
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Objective Question

46021520

file:///E:/NCET 1/ZIP/31_|_Live_Eng/31_I_Live_Eng_401-800.html 31174



8/9/23, 6:49 PM 31_|_Live_Eng_401-800.html

JlafiTe aHTOHHM K CIOBY «00raTcTBO» !

. 0IaroJapHOCTE
. OIIACHOCTh

. CIIOCODHOCTE

. OETIHOCTE

o =

S

Al:l
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Ad:4

Objective Question
461 21601

AR ¥ T AT FAGa WS o WSEd BT gHE H AR UH ARM Hoeel @9 dal W Hi-

19T A HA ARG A UREN T SgE WATRD I CEET M S ofld SR TR ATehRE A ok i
TRH T R HR 9RET W 9E@E 9 R4 h] B vd RSN AGERH wYl, #AE] §Fd, e |9 9596,
fedl, afTen, 33, Hardl, el UAM YR T U AW SFEEE As Tmm 1 aE an fam 1ol
G, A, sudy, ®= , @0, 3feA, 3 W BeR o UREl WiErl 9 dardl 9ied 9| dargdrg
AFEEEN A A URH A 1, W, T, Aued, 999, 9El, STE, d@Ed, J9, T, EW, R
A, STHN, HeFd, U, O, Tgd THAGHF. Ad@ 91 8¢ U @ 88 T T4 8 T 9 Gared uREl
A Hl, , A®d, SUH, UM, 9RME 999, AREl UEEl, |9Ea, @sdl | faqe, 1, TR s, S,
HAfFd AT , SH TET, 9190 UHE T T AR UA SEET TSRSl Ul @ e fTEm 1 g99RnE
TEM U4 9F HAM B TeRd, ™, Bdre, Ulgd, g, fad, died, a2, 9reF T el 3a)

FIqT HATA 1 FAl SEAN ARl AT F 4R SAFA, HE FEA B SREH FH A O OHRX AR 9T
I AR UM F19] ddqredl 1 849 aldl 2aid FHEl

UHE HIGT S GEEEd 9 R R

1. TEFM

3.999
4, 397e
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Objective Question
46221602
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AR ¥ T AT FAGa WS o WSEd BT gHE H AR UH ARM Hoeel @9 dal W Hi-

FoT T A s FE U 1 EEE BAiRG A F TS aEd S UNE SendRs A od i
TRH T R HR 9RET W 9E@E 9 R4 h] B vd RSN AGERH wYl, #AE] §Fd, e |9 9596,
fedl, afTen, 33, Hardl, el UAM YR T U AW SFEEE As Tmm 1 aE an fam 1ol
G, A, sudy, ®= , @0, 3feA, 3 W BeR o UREl WiErl 9 dardl 9ied 9| dargdrg
AFEEEN A A URH A 1, W, T, Aued, 999, 9El, STE, d@Ed, J9, T, EW, R
A, STHN, HeFd, U, O, Tgd THAGHF. Ad@ 91 8¢ U @ 88 T T4 8 T 9 Gared uREl
A Hl, , A®d, SUH, UM, 9RME 999, AREl UEEl, |9Ea, @sdl | faqe, 1, TR s, S,
qfFd AFT , SR A, G960 TE F T AEE T OAAE T OEEs Id EE Ts TEmm Y 9w i
TEM U4 9F HAM B TeRd, ™, Bdre, Ulgd, g, fad, died, a2, 9reF T el 3a)

FIqT HATA 1 FAl SEAN ARl AT F 4R SAFA, HE FEA B SREH FH A O OHRX AR 9T
I AR UM F19] ddqredl 1 849 aldl 2aid FHEl

‘geaq' @i Gardl { HH HBET FE7

1. s %

2. A
3. 9E™

e

Al:l
A2:2
A3:3
Ad:4

Objective Question
46321603
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AR ¥ T AT FAGa WS o WSEd BT gHE H AR UH ARM Hoeel @9 dal W Hi-

FoT T A s FE U 1 EEE BAiRG A F TS aEd S UNE SendRs A od i
TRH T R HR 9RET W 9E@E 9 R4 h] B vd RSN AGERH wYl, #AE] §Fd, e |9 9596,
fedl, afTen, 33, Hardl, el UAM YR T U AW SFEEE As Tmm 1 aE an fam 1ol
G, A, sudy, ®= , @0, 3feA, 3 W BeR o UREl WiErl 9 dardl 9ied 9| dargdrg
AFEEEN A A URH A 1, W, T, Aued, 999, 9El, STE, d@Ed, J9, T, EW, R
A, STHN, HeFd, U, O, Tgd THAGHF. Ad@ 91 8¢ U @ 88 T T4 8 T 9 Gared uREl
A Hl, , A®d, SUH, UM, 9RME 999, AREl UEEl, |9Ea, @sdl | faqe, 1, TR s, S,
qfFd AFT , SR A, G960 TE F T AEE T OAAE T OEEs Id EE Ts TEmm Y 9w i
TEM U4 9F HAM B TeRd, ™, Bdre, Ulgd, g, fad, died, a2, 9reF T el 3a)
FIqT HATA 1 FAl SEAN ARl AT F 4R SAFA, HE FEA B SREH FH A O OHRX AR 9T
I G UHRME FG] ddredl T B4 aal 2@ HE

T URHl . R ddrel HETdR s &

1.8 FrH
2. TFN
3. 4@fe® o

-

4. 3qfedr @
Al:1
A2:2
A3:3
Ad 4

Objective Question
464 21604
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AR ¥ TH AT SFTaT WS o USEd B9 gHE W AR UH SRM Heel @9 dal T Hi-

Frg & A a1 IE 1 S WATRG W M T S oild H@Fd U ATass HJE o f5q
TRl 1 HR AR URED W G@EE 9 w9 F] § ed SEANASEE w9, HE U9, T Je 96,
fedl, @, 33, Hardl, USRI UAM URET T U AW SFEEEN A5 Tmm 1 R an fam 1 oefes
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AFEEEN A AT URH @ 1, W, TR, dued, 994, 9REl, STE, d@Ed, J9, T, EU, R
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AFFd AT, SHC WA, 9ET UAE ] T R(d T SAED TSRS qedt e e

LI A EA T
TEM U4 @F AM I+ B Thd, Tha™, Bde, UEd, sad, fad, Jdied, a2, 9reM T e 3aR
FIT HATA L FA] SEAN FARE] AT FA AR SAFA, FE FEA A RFER FH OAE T AT AR G
T+ 9R] UM F197 ddrel 1 89 ajal i HA
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Objective Question
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Objective Question
466 21606

'‘ARETE’ I Sdd HERE AE FHEY
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Objective Question
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Objective Question
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Ad:4

Objective Question
469 21609
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Objective Question
470/21610
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A4 4

Objective Question
471 21611
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Objective Question
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Objective Question
473 21613
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Objective Question
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Objective Question
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Objective Question
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A4:4

Objective Question
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A2:2

A3:3

A4 4

Objective Question
518 21918

o o
(=gt I 1= T A1 1 TR s (ol IS 0 = B fe S e G N |
! > = £ it IR

L@ <= D )
2. B RET E %5]
3.A,.C RE E ?TT?]
4. B._ C e E %‘5,!
Al:1
A2:2
A3:3

Ad:4

Objective Question
519/21919

A - E
zr,:}&d'-’:]—-*‘.m S S AGN I AHEN R R85 G TN

LISTI LIST II
A pramge I =3

g I T
IV, e frssamazs

1. A-I, B-III, C-1I, D-IV
2. A-II1, B-1V, C-1, D-II
3. A-II1, B-1V, C-1I1, D-1
4. A-1V, B-1, C-II1, D-IT

Al:1
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A2:2

A3:3

A4 4

Objective Question
520 21920

AN AN B W NIV Y FFEN ARG, F )

LISTII
L =57
I s
IIL fyr~ers e

ola]w|s

fale EAG B el S et i

1. A-III, B-1, C-II, D-IV
2. A-1, B-1V, C-I1, D-III
3. A-IV, B-1, C-II1, D-11
4. A-II, B-1I1, C-IV, D-1

Al:1

A2:2

A3:3

A4 :4

Objective Question

52122001 E i F 31 -HW : %-

FHRTYR AT Tidr Jua | 7el YR .94 aanr dimgag-1iidl st Tewaquil, I=goi. Srderiasl, fay-fawsm
T Tl | SFTERITY: e fpdr IR Xele: fayfiar 53 widr garq fagd. %qrc:mae—@hm%mmma Sl USRI
T ada | fay-anfeas 7 Sisfl 7mr: ael o, wiast 3 o o=l geryRd SuFES i |
TRTHIR ¢/H-DIT-2, T7-OTe:- - apT0S -, S{eATat-Hrat, Afet-dlar-fRierore, fen-Riefl. sreR-gfedr-goro 9 add|
HETHIR TodH, Ufel, Fgid. T, dTel. P, Jefe-MNe, I1ep-TTe, ST s-2Re, ﬂfﬁ‘l‘cfﬁsiﬁ G- 17Td-qui, Sg-=1d,
TG A-XIRG, T fd-Ta9TH, 3%a-2a-1ae). TNT-XRaH, ISk, oUm:, 3ax-ed—-UGid: SEd: [auar: Sy idr: ||
A, T - XRG0-Ad-AR-TG VI [ a6 1T =110 SR TR UM f3hadl | S - H1e=edIq] 3 e fawd =
St YRA oift g [y offt Rd Tl 3 31 Sfe: gui|
TETHRA BT T JTI?

1. &k

2. I

3. Tie:

4. YT
Al:1
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A2:2
A3:3
Ad:4

Objective Question
522122002 i i
HT=< UfSeal 3¢ el HHHTH J<ifor forgd -

FHGTYRT T Tdn Juma | HeT HRaw Hi.gdfor adamr fegrag-fiar sidta aew@yor, o, Srderiiet. fay-faema
T geid | SAFTERIY: Sfem: YfEpdT el Xaio: f[ayfiar 53 1idr gard fagd. faure-od 9 srejH ufd @9d wirad: fiowg 3uee-
wurada | fay-arfea 7 Sisfl o= aeeh nf, wiast 3 o ol geryRd SuFESrTiar |

TETHRA YH-T1T=, J3-O1IG-SH- 108 -IH-a0:. 3eATa-HHTG:, ifd-aiefl-TRigm, Tea-fRigvl, seaR-giedr-guivo 9 add|
- 1. T o1- R g -ed-TR-Tg I (4%~ 1Y S =47 0] b | 50 94-TH e o I~ fawd =5

fRgTTag dTdi Biq A If=

1. 3PIGR
2. Htda®T
3.1daR

4. Ugeq

A2:2
A3:3
Ad:4

Objective Question
52322003
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S5 IISa Sy We=i HHTTH SR = -

TR o1 Tl Juaw | 7o YRaw H.gadftr adur diengag-fiar sidla Tew@yui, Iyul, Srdeioe!. fay-faema
9 gaid | SFTERIY: SfeTd: fEpdl g Reile: f[ayiddr 52 1id gard faqd. faure-od = 3ejH wid @ wiad: 9oy 3usyl-
EUl gdd | fay-aniga 7 SisfU gm: aei uid. wiast 9 ol aesil HeryRd SUHESHTar yaad |

TETHRA YH-WIuT=, 93-OnTIe-SH-S0S-TH-ag:. STa-HHIG:, Tifd-ciefl-FRsmm, Hea-Rigvl, seaR-gia-su 9 add
HETHR PTaH, ufaﬁj. g 1d. 7T, dTel, e, -, TTP-RTE. SIY-IT, ﬂfﬁ‘l‘cfﬁilﬁ GTE-7e-aui. Sia-]me,
RATI- X, T fal- g, 3Ra- 2. e, Tv-IRaw, 9ISk, S, Sexi-tTd—-9G(a: Sared: f[avdr: Sy afdr: af=T|
T4 TS eI, Te 0. AR SR-IB I (34121 91 3 TR TTUHT 35ad | S0 Ha-ATexaTd ofkd e fawd =
ol HRA 3 q ey offt 1Rd vz de 3 S guiiaT!

TEIHRAX fawd &1 Ife: guiden

1. FHHUAGTIHTRET
2. "YRd UHl dar

3. 3ffeaT Ry
4. Y8 AT FHER

Al:1
A2:2
A3:3
A4 :4

Objective Question

52422004 ;i =
ST UiSeT S{Y: Uei=i UHTHH STRI0r f=rd -

FHRTYR AT Tidr Jua | 7el YR .94 aanr dimgag-1iidl st Tewaquil, I=goi. Srderiasl, fay-fawsm
T Tl | SFTERITY: e fpdr IR Xele: fayfiar 53 widr garq fagd. %qﬁmaaqhmﬁmmma Sl USRI
T ada | fay-anfeas 7 Sisfl 7mr: ael o, wiast 3 o o=l geryRd SuFES i |

TRTHIR ¢/H-DIT-2, T7-OTe:- - apT0S -, S{eATat-Hrat, Afet-dlar-fRierore, fen-Riefl. sreR-gfedr-goro 9 add|
HETHIR TodH, Ufel, Fgid. T, dTel. P, Jefe-MNe, I1ep-TTe, ST s-2Re, ﬂfﬁ‘l‘cfﬁsiﬁ G- 17Td-qui, Sg-=1d,
TG A-XIRG, T fd-Ta9TH, 3%a-2a-1ae). TNT-XRaH, ISk, oUm:, 3ax-ed—-UGid: SEd: [auar: Sy idr: ||
A, T - XRG0-Ad-AR-TG VI [ a6 1T =110 SR TR UM f3hadl | S - H1e=edIq] 3 e fawd =
St YRA oift g [y offt Rd Tl 3 31 Sfe: gui|

®: T: fayepIer: 31 B

1. JEEH

2. RIUH
3. 3UHYg
4. HETHRAH

Al:1
A2:2
A3:3
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A4 4

Objective Question

52522005 x s
HT< UfSedl 31y Feii=l UHHTH SR ford -
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RHTIA-XIG, Teafd-faqe, SRa-Td-fae, TW-IRaH, SISk, O, Sex-3ad=-9G(a: 3ared: f[avar: $fY afhdr: afT|
T4 T eI, T - R SR-IE VI (34 T2Ia 91 e TR T 3 | S0 a-HexcaTd] of IR0 fawd =
Hae HRA Y g [ASRY oY YR g2l ae gid Sia: guiisT

HTDEITHR T U g RITIYd -

A. faynfees = ®Isfa 7= aresi ufasi i

B. HETHRd AT TidT: Suaa= |

c. Titar fiH o SUSER=Y] add |

D. HeTHRd $regd, Ufagl, Ivfias, sarea: fawarn: afdar: o<
E. HeTHRa Hsqudiion adamn stemgagiar sidla ggwyul |
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Al:1
A2:2
A3:3
A4 4

Objective Question

52622006 , ) - )
‘38 Haal HIoH gl Sfe i HHue f&9d -

351

Al:1

A2:2

A3:3
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A4 :4

Objective Question

52722007 . . . :
' Y e UERY S Hqug 9 -

T

Al:1

A2:2

A3:3

Ad:4

Objective Question
52822008

T FITBT: TRIGY TR - o [GUYTgg ford -

Al:1

A2:2
A3:3
Ad:4

Objective Question

52922009 3 'sﬂﬂﬁﬁlﬁ:?

1. ogHt
2. uEt

3. et

I
Al:1
A2:2
A3:3
Ad: 4
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Objective Question

53022010
T T BT [GuiEa:

1. UYHI

Al:1
A2:2
A3:3
Ad:4

Objective Question
53122011

Y& A D: TDR:?

T

Al:1
A2:2
A3:3
A4 :4

Objective Question
532/22012

T SO &: PR

Al:1

A2:2

A3:3

Ad:4

Objective Question

file:///E:/NCET 1/ZIP/31_|_Live_Eng/31_I_Live_Eng_401-800.html

31_|_Live_Eng_401-800.html

66/174



8/9/23, 6:49 PM
533 22013
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2. H9gH
3. ®fa:
4. 3T
Al:1
A2:2
A3:3

Ad:4

Objective Question
534 22014

A TG + 3y
B.H§+3ﬁ
c.afg+1g
D. 79+
E. Tal+ 39

31_|_Live_Eng_401-800.html

3HY: Uey fadedy Sieaar ST fHd -

1. PATH A, C
2. HadH D
3. A A
4. PIIHE. C

Al:1
A2:2
A3:3
Ad:4

Objective Question
53522015
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A, Mg
B. TEIHRAY
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D. $URY™AY
E. [RIgureiayy

3{¢: geuy fadedy Siedaas Ik o -

1. AT A. B
2. HacH B

3. %agH C. D
4.%auH D, E

Al: 1
A2:2
A3:3
Ad:4

Objective Question

53622016
BTN SO ITAPR: 22

1. TIfor=:
2. PIAg-:
3. 4dd %}:
4. YJei:

Al:1

A2:2

A3:3

Ad:4

Objective Question
53722017
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Al: 1
A2:2
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A4 4

Objective Question

538 22018 : :
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T I
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HER 11 [
RI&rTH IV. |o7ad

3¢ geny fapedy Sfedaas 3wk f=rd -

i 1
HEEGE

Olo|w|x

1. A-IL. B-IV. C-1. D-III
2. A-L B-IL C-III. D-IV
3. AL B-IL. C-IV. D-I
4. A-IV, B-III. C-11. D-I

Al:1
A2:2
A3:3
Ad:4

Objective Question
539122019
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Al:
A2:
A3:

A4 :

1.
2.
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Objective Question

540 22020

wywi gl fgdraan = 9g Hagd -

A-L B-IL C-III. D-IV

A-IV, B-III. C-I1. D-I
3. A-IL. B-IV. C-1. D-III
4. A-IL. B-III. C-IV. D-1

T 1 T 11
A [r=s1iH I [dgdar:
B. [T=5q I [deder:
C. [arr=aq 111 [eeepR:
D. [Tt IV. [dlecidr:

3HY: geuy faedy Sierdas 9wk f=rd -

Al:
A2:

A3:

A4 :

1. A-
1A
A
4. A

Objective Question

541 30101
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L. B-II. C-III. D-IV
IV, B-III. C-II. D-1
1L. B-IV. C-I. D-II1
IL. B-I. C-II1. D-IV
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Calculate the amount of stationery consumed during the year from the following information.

Amount paid for stationery 23,000

31_|_Live_Eng_401-800.html

1421 31322
Stock of stationery 4,000 3.000
Creditors for stationery 9.000 2.500

1. 217.500
2. 216,500
.327.500
.318.500

S )

Al:1

A2:2

A3:3

Ad:4

Objective Question
54230102

Arrange the following steps to be followed at the time of guarantee of profit:

A. Guarantee given by firm to the partner.
B. Transfer Balance of P&L A/C to P&L Appropriation A/C.
C. Distribute profit among partners in their profit sharing ratio.

D. Guarantee given by partner to firm.

E. Guarantee given by one partner to another partner.

Choose the correct answer form the options given below:

L.BA D,C.
2B, AH,
3.B.D,A,C.
4 B.DCA

Al:l

A2:2

A3:3

A4:4

Objective Question
54330103
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Match List I with List IT

LISTI LIST IT
A |Interest on capital, Salaries I. [Partner's capital A'c (Debit)
B. |Interest on drawings, Drawings II. [Partner's capital A/c (Credit)
C. |Only one account for each partner I11. [Fixed capital method
D. |Two separate accounts for each partner] IV, [Fluctuating capital method

Choose the correct answer from the options given below:

1. A-IIL. B-II. C-IV. D-1
2. AL B-L. C-IV, D-III
. A-IIL B-1. C-IIL. D-IV
AL B-IIL. C-IV. D-I

I S Y]

Al:1

A2:2

A3:3

Ad:4

Objective Question

544 30104 : ; ; % g i rd
General Reserve appearing in the Balance sheet. at the time of admission of partner. would be transferred to:

. Old partner capital A/c in old profit sharing ratio

. Old partner capital A/c in sacrificing ratio

. All partner's capital A/c in new profit sharing ratio

. New partner's capital A'c in new profit sharing ratio

(S

IS )

Al:1
A2:2
A3:3
A4:4

Objective Question

54530105 - ] : o : : ; g g
Umesh and Mohit are partners in a firm sharing profit in the ratio of 3:2. They admit Dori Lal as a new partner. Umesh sacrifices 1/4 of his

share and Mohit 1/3 of his share in favour of Dori Lal. Calculate new profit sharing ratio of Umesh, Mohit and Dori Lal.

1.3:2:5

2. 2T:16:17
3.16:27:17
4.17:16:27

Al:1
A2:2

A3:3
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A4 4

Objective Question
546 30106

following steps for the same in correct sequence:

A. Caleulate required capital of all partners

B. Transtfer surplus/deficit to Partner's current Alc
C. Calculate total capital of the firm

D. Calculate new profit sharing ratio

E. Calculate surplus/deficit of old partners

Choose the correct answer from the options given below:

|
Noo»

Vonw
m 3 O

o
i R
W Wt

Al:1
A2:2
A3:3
Ad:4
Objective Question

54730107

the ratio of 4:3. Calculate gaining ratio.

1.3:2
2. 4:3
. 8:13
.13:8

e

Al:1

A2:2

A3:3

A4 :4

Objective Question
54830108
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At the time of admission of new partner it was decided to adjust the capital of all partners on the basis of new partner capital. Arrange the

Keshav, Akshay and Arvind are partners sharing profit in the ratio of 4:3:2. Akshay retires. Keshav and Arvind decided to share profit in
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For Deceased partner's share of profit. which of the following journal entry would be passed?

1. Gaining partner's capital A/le  Dr.

To Deceased partner's capital Ale
2. Deceased partner’s capital A'e  Dr.

To gaining partner's capital A/c
3. P& L Appropriation Dr.

To gaining partner’s capital Alc
4. Gaining partner's capital A/c  Dr.

To P& L Appropriation Alc
Al:1
A2:2
A3:3
Ad:4

Objective Question
549 30109

Jishu a partner, was appointed to look after the dissolution proeess for which he was given a commission of Z69.000. What journal entry

would be passed:-

1. Realisation A/e  Dr. 69,000
To Cash A/e 69.000
2. Realisation A/e  Dr. 69,000
To Vishu's capital Ale 69.000
3. Realisation A/e  Dr. 69,000
To Vishu's Current Ale 69.000
4. Vishu's capital A/e  Dr. 69,000

To Realisation A/c 69,000

Al:1

A2:2

A3:3

Ad:4

Objective Question
55030110
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As per section 48 of the partnership Act 1932, Assets of firm, including any sum contributed by partners to make up deficiencies of
capital shall be applied in which of the following order:

A. Paying debts of third parties (secured loans)

B. Partner's capital

C. Partner's loan

D. Residue. if any shall be divided amongst partners in their profit sharing ratio
E. Paying debts of third parties (unsecured loans)

Choose the correct answer from the options given below:

1.E.A.C.D.B
2. EACB.D
3o A B G B D
4. C,A.E.B.D

Al:1

A2:2

A3:3

A4:4

Objective Question

551 30111 ; : i
Match List I with List IT
LISTI LIST IT
A [Dissolution by Agreement I. [When the business of the firm becomes illegal
B. |[Compulsory Dissolution II. [If constituted for a fixed term by the expiry of that term|
C. |On the happening of certain contingencies| ITI. [With the consent of all the partners
D. [Dissolution by court IV. [When a partner becomes insane
Choose the correct answer from the options given below:
1. A-I. B-IIL. C-II. D-IV
2. A-II. B-1. C-IV, D-III
3. A-IIL B-IV. C-I. D-1I
4. A-IT1. B-L. C-I1. D-IV
Al:1
A2:2
A3:3
Ad:4
Objective Question
552130112
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Choose the correct sequence to be following in context of forfeiture and reissue of shares

A. Reissue of Shares

B. Forfeiture of Shares

C. Call Money becomes due
D. Calls in arrears

E. Unpaid Allotment Money

Choose the correct answer from the options given below:

1.C,E,D,B.A
2.C,E.B,D,A
3.E.C.D.B.A
4.E.C.B.D.A

Al:1

A2:2

A3:3

A4 4

Objective Question
553/30113

1. Share holder's A/c

2. Interest on Calls in Advance A/c
.Bank A/c

. Calls Ale

L

Al:1

A2:2

A3:3

Ad:4

Objective Question

55430114 I 3
The following journal entry appears in the books of Khanna Ltd:-

Debenture Application & Allotment A/c Dr. 4.75,000

Loss on Issue of Debentures A/c Dr. 75.000
To 12% Debenture Alc 5,00.000
To Premium on Redemption of Debenture A/c 50,000

Debentures have been issued at a discount of:-

5%

15%
. 10%
20%

Lt

e
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At the time of interest on calls in advance becomes due, which of the following account is to be debited?
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Al:1

A2:2

A3:3

Ad:4

Objective Question
55530115

31_|_Live_Eng_401-800.html

Vellu Ltd. purchased building worth 719.80.000 from Rajat Ltd. Payment was made by issue of 20% debentures of 21000 each at 10%
discount. Calculate number of debentures issued/allotted to Rajat Ltd.

1. 1.980
2.2,200
. 1.800
. 1.100

N )

Al:1

A2:2

A3:3

A4 :4

Objective Question

556 30116 i ; . i 3
"Reserves and Surplus” includes which of the following

A. Debenture Redemption Reserve
B. Reserve Capital

C. Share option outstanding Account
D. Securities Premium Reserve

E. Revaluation Reserve

Choose the correct answer from the options given below:

.B. C.D and E Only
. A. B and E Ounly

. Cand D Only

. A, C.Dand E Ounly

b2 —

S

Al:1

A2:2

A3:3

Ad:4

Objective Question
55730117

file:///E:/NCET 1/ZIP/31_|_Live_Eng/31_I_Live_Eng_401-800.html

77174



8/9/23, 6:49 PM 31_|_Live_Eng_401-800.html

Identify the wrong statements about Gross Profit Ratio:

A. Low ratio may indicate unfavourable purchase and sales policy
B. Higher the ratio, the better it is

C. Indicates net margin on products sold

D. Low ratio may indicate favourable sales Policy

E. Change in this ratio may be due to change in selling price

Choose the correct answer from the options given below:

. A.Band C Only
. A.Band D Only
. C and D Only

. A, CandE Only

ba =

RS

Al: 1
A2:2
A3:3
Ad:4

Objective Question

558 30118 o ' 5B ; i i i : d = 7
Though financial analysis is helpful in determining financial strengths & weaknesses of a firm. Identify which of the following statement

(s) do(es) not support above lines:
A. To assess the current profitability
B. Does not consider price level changes
C. To identify the reason for change in financial position of the firm

D. May be misleading without the knowledge of changes in accounting policies

Choose the correct answer from the options given below:

1. B and D Oaly
2. Aand B Only
3.B and C Only
4. C and D Ounly

Al:1
A2:2
A3:3
A4 4

Objective Question
55930119

file:///E:/NCET 1/ZIP/31_|_Live_Eng/31_I_Live_Eng_401-800.html 78/174



8/9/23, 6:49 PM

31_|_Live_Eng_401-800.html

Identify wrong statement(s) from the following statements regarding Ratio Analysis:

A. Enables SWOT Analysis

B. Identify problem areas

C. Simplify complex figures

D. Always expressed as a quotient of one number divided by another
E. Activity Ratios and Turnover Ratio are different ratios

Choose the correct answer from the options given below:

. Aand D Only
. B and D Only
. D and E Only
. C and E Only

R

Al :1

A2:2

A3:3

Ad:4

Objective Question

560 30120 : : i
Match List I with List I
LISTI LIST II
A [Fiaudity Retios I ?I'hese are calculated to determine the ability of the business to service
its debt in long run
B. |Solvency Ratios II. |These are calculated to measure the short term solvency
C. |Turnover Ratios II1. |These are calculated to analyse the earning capacity of the business
D. [Profitabilitv Ratiod TV Theﬁse indicate the speed at which activities of the business are being
1 performed
Choose the correct answer from the options given below:
1. A-I. B-II. C-III. D-IV
2. A-I1. B-1. C-IV. D-IIT
3. A-L B-IV. C-III. D-IT
4. A-II1. B-I1. C-IV. D-I
Al:1
A2:2
A3:3
Ad:4

Objective Question
56130121

In case of financial enterprise. interest paid is classified as:-

b =

. Cash outflow from operating activities
. Cash outflow from financing activities

3. Cash outflow from investing activities
4. either financing or investing activity

file:///E:/NCET 1/ZIP/31_|_Live_Eng/31_I_Live_Eng_401-800.html
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Al:1

A2:2

A3:3

Ad:4

Objective Question

56230122 : ; ;
Match List I with List IT

LISTI LISTII
A. [Refund of Income Tax received | I. |Operating activities
B. [Dividend recerved on shares II. [Financing activities
C. |Rent paid [I1. |Investing activities
D

. |[Redemption of preference shareg] IV. [Cash and cash equivaleny

Choose the correct answer from the options given below:

. A-L B-IV. C-I1. D-III
. A-IL B-1. C-IIL. D-IV
3. A-IV. B-III. C-I. D-IT
4. A-IV. B-III. C-I1. D-I

[

Al:1
A2:2
A3:3
Ad:4

Objective Question

56330123 : 3 R ; . T
In Indirect Method. cash flow from operating activities follow certain sequence. Arrange the following in sequence:

A. Operating profit before working capital changes
B. Net profit before tax

C. Income tax paid

D. Adjustments for working capital changes

E. Cash generated from operations

Choose the correct answer from the options given below:

LB A IEE €
2.B,A,C, B D
FBRAC.D.E
4 A B.D. CE

Al:1

A2:2

A3:3

A4:4
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Objective Question

56430124 - : 5 .
Match List I with List IT

LISTI LISTII
A [Internal Controls 1. JAmount owed by customers for credit purchases
B. |Accounts receivable subsidiary ledger] II. |Deals with ascertainment of cost of goods purchased
C. |Costing sub-system II1. |Deals with generation and processing of reports that are vital for management
D. Management Information System IV |Safeguard assets and optimise the use of resources

Choose the correct answer from the options given below:

. A-IV. B-L. C-I1. D-III
. A-IV, B-IIL, C-II. D-I
3. AL B-I. C-IL. D-IV
4. A-IIL B-IV. C-I. D-II

| S

Al:1

A2:2

A3:3

Ad:4

Objective Question

56530125 : i 3 i
Following are the statements regarding DBMS. Identify correct statements:

A. The term record as applied to a database table means horizontal row of table
B. The term record as applied to a database table means name of the table

C. The existence of data in a primary key field is required and must be unique

D. MS Access is a database management software

E. The common fields used in a relationship between tables are called joint fields

Choose the correct answer from the options given below:

. C. D and E Only
.A. Cand D Only
.B. C and E Only
. C. D and E Oaly

b =

NS

Al:l
A2:2
A3:3
Ad:4

Objective Question

566 30201 : i
The phenomena of El Nino and La Nina may relate as-

. Same events

. Opposite to each other

3. Not at all related

4. El Nino occurs weekly and La Nina occurs monthly

b =
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Al:1

A2:2

A3:3

Ad:4

Objective Question
567 30202

Numerical Weather Predictions (NWP) models for medium range weather forecasting in India is valid for-

1.2 -4 Days
2.3 -10Days
3.10- 18 Days
4. 7-27 Days

Al:1

A2:2

A3:3

Ad:4

Objective Question

56830203 g
Bond between nucleotides are called:

. Peptide bond

. Glyosidic bond

. Electrovalent bond

. Phosphodiester bonds

da o b —

Al:1
A2:2
A3:3
Ad:4

Objective Question

56930204 i . B4 ;
Which of the following is not a reducing sugar?

1. Fructose
2. Ribulose
3. Xylose

4. Sucrose

Al:1
A2:2

file:///E:/NCET 1/ZIP/31_|_Live_Eng/31_I_Live_Eng_401-800.html
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A3:3

Objective Question

570 30205 : : ;
Select the major viral disease of poultry:

. Ranikhet

. Fowl Cholera
. Avian malaria
. Aspergillosis

[

S P

Al: 1
A2:2
A3:3
A4 4

Objective Question

571 30206 ; ; ; S 2
Diathesis and Muscular dystrophy in poultry farming is due to-

. Sodium and potassium
. Selenium

. Iron and Copper

. Phosphorus

o o bo =

Al:1
A2:2
A3:3
Ad:4

Objective Question

572130207 - . o i .
If H™ ions concentration of a soil is 1107 M. its pH will be

£ b e
b th 0 e
0 Lh OO

L

Al:1

A2:2

A3:3
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A4 4

Objective Question

57330208 i : s A : i ‘
Which chemieal fertilizer contains only one primary or macro nutrient content?

. Complex fertilizer
. Soil amendments
. Straight fertilizer

. Mixed fertilizer

[

S P

Al:1

A2:2

A3:3

A4:4

Objective Question

574 30209 E i
Germinated gram grains are used to cure

. Night blindness

. Scurvy disease

. Beri - beri disease
. Rickets disease

o =

IS )

Al:1

A2:2

A3:3

Ad:4

Objective Question

57530210 ; . : i g
A watershed area under management is considered as micro watershed if the area under management is:

.0.1-1Ha
.1-100Ha

. 100 - 1000 Ha

. 1000 - 10000 Ha

O

Al:1
A2:2
A3:3
Ad:4
Objective Question

57630211
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The preservative which has greater effect in increasing the quality and longevity of cut flower is -

. Silver thiosulphide

. Sugar and biocide combination
. SICA and sucrose combination
. Antiethylene compounds

a0 D =

Al:1
A2:2
A3:3
A4 -4

Objective Question

577 30212 ; : i 7 i : : : : i ;
Flowers like Chrysanthemum and Gladiolus are loaded with high concentration of silver nitrate / nickel chloride or cobalt chloride. This

process is known as-

. Pulsing

. Impregnation
. Conditioning
. Loading

b =

S

Al:l
A2:2
A3:3
Ad:4

Objective Question

578 30213 ; ’ ; : : ¢ :
Which of the following plant is vegetatively propagated by serpentine layering?

. Citrus

. Bougainvillea
. Calodendron
. Strawberry

[

IS S

Al:1
A2:2
A3:3
Ad:4
Objective Question

57930214
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Which sequence of the following parts correctly represent transportation of sperm in bull?
A. Vasa efferens
B. Vas deferens
C. Testicles
D. Epididymis
E. Sigmoid flexure

Choose the correct answer from the options given below:

1.A.B.C.D.E
2.E.D,C.B.A
3.C.D.A.B.E
4.D.C.B.A.E

Al:1

A2:2

A3:3

Ad:4

Objective Question

58030215 : > : : : :
Which sequence of the following steps are involved in multiple ovulation and embryo transfer ?

A. 8-32 cells stage embryo
B. Ingemination

C. Super Ovulation

D. Administration of FSH

Choose the correct answer from the options given below:

1LABCD
2. 0. BLA
a0, BA D
4.B.A.D.C

Al:1

A2:2

A3:3

Ad:4

Objective Question
58130216
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Which is the correct sequence of stages of nitrogen cycle-
A, Denitrification
B. Ammonification

C. Nitrate Assimilation

D. Nitrification

Choose the correct answer from the options given below-

1.LAB.C.D
22C.D.A.B
B O 1A
4.D.C,B.A

Al:1

A2:2

A3:3

A4 :4

Objective Question

58230217 S : ;
Seed processing is carried out in correct sequence of steps as-

A. Seed conditioning

B. Size grading

0

. Seed treatment

@]

. Weight and packing

a3

. Storage of seed

Choose the correct answer from the options given below-

1. €A D. B, E
22BADCE
3B D CB.A
4. A B.C.D.E

Al:1

A2:2

A3:3

A4:4

Objective Question
58330218

file:///E:/NCET 1/ZIP/31_|_Live_Eng/31_I_Live_Eng_401-800.html 87/174



8/9/23, 6:49 PM 31_|_Live_Eng_401-800.html
Which of the following sugar (s) contain fructose?
A. Maltose
B. Sucrose
C. Inulin

D. Lactose

Choose the correct answer from the options given below:

1. A. B Only
2. B, C Only
3. A. C Only
4. C,D Only

Al:1

A2:2

A3:3

A4 4

Objective Question

584 30219 ; ; ; :
In which stage (s) crossing over is cytologically expressed?

A. Anaphase
B. Pachytene
C. Diplotene
D. Diakinesis
E. Zygotene

Choose the correct answer from the options given below:

1. A. COnly
2. B. D Only
3. C.D Only
4. A E Only

Al:1

A2:2

A3:3

Ad:4

Objective Question
585130220
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Find out the correct statement (s)
A. Gravity drip irrigation make use of high pressure.
B. Bucket bit irrigation is used by small commercial vegetable garden.
C. Drum kit irrigation is an extension of bucket bit.
D. Clay jar irrigation is suitable for fruit trees.

Choose the correct answer from the options given below-

1. A. B Only
2.B. D Only
3.C.D Only
4.B. C Only

Al:1

A2:2

A3:3

Ad 4

Objective Question

586|30221 Which of the following is true for post harvest management of fruits and vegetables?

A. Disinfection treatment is employed using UV light, ozone, chlorine, caleium hydroxide to clean water.
B. VHT 1s mandatory for export of mangoes

C. Top Icing method is used to precool the brussel sprouts.

D. Phytophthora infestation on orange can be minimized by treating it with curing

E. Fumigation involves treatment with Chlorine gas.

Choose the correct answer from the options given below:

Al:l
A2:2
A3:3
Ad:4

Objective Question
58730222
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Match List I with List IT

LISTI LIST II
A [DR.M. S. Swaminathan| I. |Rice Breeder
B. |Sir T S. Venkatraman II. |Wheat breeder
C. IDR.B.P Pal 111 |Sugar cane breedeq]
D. IDR. K. Ramiah IV. [Mutation breeder

Choose the correct answer from the options given below:

o =

CA-L B-IV. C-III. D-II
. A-IV, B-IIL C-II. D-I

3. A-IIL B-IL. C-IV. D-I
4. A-II. B-L. C-III. D-IV

Al:1

A2:2

A3:3

Ad:4

Objective Question
58830223

Match List I with List IT

LISTI

LISTII

. |Pusa Komal

[Bacterial blight

[Pusa Sadabahar

. [White rust

[Pusa Shubra

. [Chili mosaic virus

o] Il Io=] oo

. |Pusa Swarnim

" Black rot

Choose the correct answer from the options given below:

1. A-IL. B-1. C-II1. D-IV
2. AL B-IL. C-IV. D-I

3. A-L B-IIL. C-IV. D-IT
4. A-IV, B-I1I. C-I1. D-I

Al:1

A2:2

A3:3

A4 :4

Objective Question
58930224
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Match List I with List IT

LISTI LISTII
(Type of motality within the plant) [(Mineral Nutrient)
A [Highly mobile 1. [Boron
B. Moderately mobile II. [Phosphorus
C. |Less mobile II1. Zinc
D. [Immobile IV. Molybdenum

Choose the correct answer from the options given below:

CA-IL B-IIL. C-IV. D-I
- A-IIL B-I1. C-IV. D-I
ATV, B-IIL C-I1. D-I
CA-IV. B-IL C-1. D-III

b Lo b —

Al:1

A2:2

A3:3

Ad:4

Objective Question

590/[30225 Match List I with List IT

LISTI LISTII
(Root type for mechanical support) (Example)
A [Prop roots [ Betel
B. |Stilt roots II. |Orchids
C. |Climbing roots II1. PMaize
D. |Clinging roots V. Ficus benghalensis

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV
2. A-IV. B-IIIL C-I. D-II
- A-IV, B-IIL C-II. D-I
AL B-I1. C-IV. D-I

e

Al:1

A2:2

A3:3

Ad:4

Objective Question
59130301
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DNA and RNA are chains made up of sub-units called:

1. Nucleic Chain

2. Nuclear Membrane
3. Nucleotides

4. Nucleus

Al: 1
A2:2
A3:3
Ad:4

Objective Question

59230302 F
The human body cell has how many pairs of chromosomes?

1. 25 pairs
2. 24 pairs
3. 23 pairs
4. 22 pairs

INER

A2:2

A3:3

A4 :4

Objective Question

78% ABO Blood Group system was discovered by:

1. Malinowski
2. Benedict
3. Kardiner
4, Landsteiner

Al:1
A2:2
A3:3

Ad:4
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Objective Question

594 30304 . : Tk 1 i
People of China, Japan and Korea belong to which racial/ ethnic stock?

1. Caucasoid
2. Mongoloid
3. Negroid
4. Australoid
Al:1l
A2:2
A3:3

Ad:4

Objective Question

59530305 _ . . - : . 5 : - :
Grinding and Polishing tool making technique is associated with which stone-age period?

1. Upper Palaeolithic
2. Mesolithic
3. Neolithic
4. Lower Palaeolithic
Al:1
A2:2
A3:3

Ad:4

Objective Question

596/ 30306 . : : ,
Blades, Awl and Graves are associated with which stone age period?

1. Lower Palaeolithic
2. Middle Palaeolithic
3. Upper Palaeolithic
4. Mesolithic

Al:l

A2:2

A3:3

A4 :4
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Objective Question

597 30307 2 A
Lunates, Triangles, Trapezes and Trapezoids are:

1. Microlithic Tools
2. Neolithic Tools
3. Palaeolithic Tools
4. Iron Age Tools
Al:1
A2:2
A3:3

Ad:4

Objective Question

P80 Saddle Quern (also known as Mill Stone) was developed during:

1. Chalcolithic Culture
2. Palaeolithic Culture
3. Mesolithic Culture
4. Neolithic Culture

Al:1l

A2:2

A3:3

Ad:4

Objective Question

59930309 . - —
The economic activities of Todas of Nilgiri Hills are termed as:

1. Hunting-gathering
2. Pastoralism

3. Shifting Cultivation
4. Plough Cultivation

Al:1
A2:2

A3:3
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Ad:4

Objective Question
60030310

The term 'Primitive Economic System' is best applicable for:

1. Farmers of Punjab
2. Onge of Andaman
3. Iron mining in Jharkhand
4. Handicraft in Assam
Al:l
A2:2
A3:3

Ad:4

Objective Question
60130311

Terrace cultivation 1s practiced in hill areas. Which tribal group practices terrace cultivation?

1. Apatani
2. Gujjar
3. Oraon
4. Buksa

Al:1

A2:2

A3:3

Ad:4

Objective Question

602/30312 A
The Khasi tribe is famous for:

1. Matrilineal Descent

2. Patrilineal Descent

3. Neolocal Residence

4. Avunculocal Residence
Al:1

A2:2
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A3:3
Ad:4

Objective Question
60330313

1. Procreation

2. Socialization

3. Fulfillment of biological needs
4. Silent Barter

Al:l
A2:2
A3:3
Ad:4

Objective Question

60430314 ; . ; .
Which among the following is a tribe of north-east India?

1. Kamar
2. Gond
3. Bhil
4. Naga

Al: 1l

A2:2

A3:3

Ad:4

Objective Question

60530315 ; G : o G
Which among the following is not a practice of shifting cultivation?

1. Slash and burn techniques

2. Cultivating only very few varieties of seeds
3. Seasonal rainfall for irrigation

4. Use of High Yielding Variety Seeds

Al:1

file:///E:/NCET 1/ZIP/31_|_Live_Eng/31_I_Live_Eng_401-800.html
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A2:2
A3:3
Ad:4

Objective Question

60630316 ; A - ; .
Which of the following is not a topic of economic anthropology?

1. Hunting-gathering communities
2. Fishing economy

3. Horticulture in Amazon

4. Shamanism

Al:l
A2:2
A3:3
Ad:4

Objective Question

607 30317 : ; . % 2 5
Eskimos have to build their house by snow for ecological adaptation such houses are popularly known

as:

1. Ice-cave
2. Igloo

3. Ice-hut
4. Rumbul

Al:1
A2:2
A3:3
A4:4

Objective Question

608 30318 ; ;
The World Environment day is celebrated on:

. 15™ December
. 15% July

. 5% Fune

.51 October
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Al:l
A2:2
A3:3
Ad:4

Objective Question

609 30319 - B ; " :
The slogan "Ecology is the permanent economy" raised by Sunderlal Bahuguna is associated with:

1. Silent Valley Movement
2. Chipko Movement

3. Narmda Bachao Andolan
4. Appiko Movement

Al:l
A2:2
A3:3
Ad:4

Objective Question

61030320 i z ; : ; :
Arrange the following in terms of increasing melanin component is skin:

A. Melanoderm

B. Albinism

C. Xanthoderm

D. Hypermelanosis

E. Leucoderm

Choose the correct answer from the options given below:

Al:1
A2:2
A3:3
A4 4
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Objective Question
61130321

31_|_Live_Eng_401-800.html

Arrange the following in chronological order starting from the earliest to the most recent:

A. Lower Palaeolithic
B. Upper Palaeolithic
C. Neolithic

D. Mesolithic

E. Middle Palaeolithic

Choose the correct answer from the options given below:

1.B.C,
2.6, B,
3.B.A,
4. A, E,
Al:1l
A2:2
A3:3
Ad:4

Objective Question
612/30322

ci=i=l=

At o

el

-

The Ao Nagas can be divided into three major socio-linguistic groups. They are:

A. Chongli

B. Sema

C. Mongsen
D. Changki

E. Sumi

Choose the correct answer from the options given below:

1. A, E & B Only
2. C.,D & E Only
3.A,C & D Only
4. B, C & D Only

Al:

A2:

A3:

A4

file:///E:/NCET 1/ZIP/31_|_Live_Eng/31_I_Live_Eng_401-800.html

2

4

99/174



8/9/23, 6:49 PM

Objective Question

61330323 System of descent in female line is traced among:

A. Apatani
B. Raji

C. Garo
D. Khasi
E. Mising

Choose the correct answer from the options given below:

.C & D Only
. A & B Only
.B & C Only
.B & E Only

B B —

Al:1
A2:2
A3:3
Ad:4

Objective Question

S149P%2 Match List I with List II

LISTI LIST II
A [Bhil I. |Arunachal Pradesh
B. |Apatani II. Madhya Pradesh
C. [HO II1. Pharkhand
D. [Khast IV. Meghalava

31_|_Live_Eng_401-800.html

Choose the correct answer from the options given below:

1. A-I, B-1II, C-II, D-IV
2. A-1I, B-1, C-II1, D-IV
3. A-1V, B-1, C-1II, D-IIT
4. A-I1I, B-1, C-1V, D-II

Al:1

A2:2

A3:3

Ad:4

Objective Question
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C15139323) M fateh List T withi Tist 10

LISTI LIST II
. |Cultural Ecologyv| 1. |Leslie A. Sponsel
. |Svstem Ecology | II. [William Sturtevant]
. [Ethno-Ecology | IIL. [Julian Steward
. |Spiritual Ecology| IV, JRov-Rappaport

w] Fo [+] =

Choose the correct answer from the options given below:

1. A-II, B-1, C-III, D-IV
2. A-III, B-1V, C-1, D-1I
3. A-III, B-1IV, C-1I, D-1
4. A-1, B-I1, C-1V, D-III

Al:1

A2:2

A3:3

A4 :4

Objective Question

616 30401 i . B i ; ; :
Which of the following is not a sexually transmitted infection (STIs)?

1. Syphilis

2. Chlamydiasis
3. Trichomoniasis
4. Ascariasis

Al:1
A2:2
A3:3
A4 -4

Objective Question

61730402 i) 2
Internal fertilisation does not occur in:

1. Pteridophytes
2. Birds

3. Fishes

4. Reptiles

Al:1

A2:2
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A3:3
Ad:4

Objective Question

618 30403 : Bl g
The process of spermiogenesis involves:

1. Transformation of spermatids into spermatozoa

2. Transformation of primary spermatocytes into spermatozoa

. Transformation of secondary spermatocytes into spermatozoa

. Transformation of primary spermatocyte into secondary spermatocyte

IS )

Al:1
A2:2
A3:3
A4:4

Objective Question

619 30404
Alleles are the:

1. Slightly different forms of the same gene

2. Completely different forms of the different gene
3. Slightly similar forms of the different gene

4. Completely different forms of same gene

Al:l
A2:2
A3:3
Ad:4

Objective Question

620 30405 ; 5 g
The genome size of Escherichia coli is:

. 10.6%10%bp
. 4.6x105p
.6.6x10°bp
. 1.2x10%p

R

Al:1
A2:2
A3:3

Ad:4
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Objective Question

621 30406 £ R s | i 4 ; : : ;
Whales, bats. cheetah and human share similarities in the bone pattern of forelimbs. Which of the following is not a part of forelimbs?

. Metacarpals
. Radius

. Fibula

. Humerus

D =

S V1

Al:1

A2:2

A3:3

Ad:4

Objective Question

622130407 ; : o
Bacteria responsible for pneumonia in humans are:

. Haemophilus influenzae and Streptococcus pneumonia
. Streptococcus pneumonia and Salmonella tvphi

. Epidermophyton and Streprococcus aureus

. Haemophilus influenzae and Trichophyion

L b —

Al:1
A2:2
A3:3
A4 4

Objective Question

62330408 3 ; ; i . A i
Virus infected cells secrete which protect non infected cells from further viral infection.

1. Statins
2. Melanin
. Cytokine

. Interferons

V)

Al:1

A2:2

A3:3

Ad:4

Objective Question
62430409
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pBR322 does not have antibiotic resistance site for the following-

1. Tetracycline

2. Ampicillin

3. Tetracycline and Ampicillin
4. Chloramphenicol

Al:1
A2:2
A3:3
A4 -4

Objective Question

62530410 ; ; F ; :
Select the first fransgenic cow which can produce human protein-enriched milk.

. Mary
. Rosie
. Dolly
. Molly

a0 =

Al:1
A2:2
A3:3
A4 4

Objective Question

626 30411 £ 4 i : ; ; ; : ;
Some plants minimize water loss by closing their stomata during day time by following a special photosynthetic pathway known as

HAM
CAM
PAM
SAR

o -

e

Al:1

A2:2

A3:3

Ad:4

Objective Question
627 30412

file:///E:/NCET 1/ZIP/31_|_Live_Eng/31_I_Live_Eng_401-800.html 104/174



8/9/23, 6:49 PM 31_|_Live_Eng_401-800.html

Relationship between Figtree and wasp is regarded as:

1. Commensalism
2. Parasitism

. Mutualism

. Amenselism

S

Al:1

A2:2

A3:3

Ad:4

Objective Question

628 30413 gl - ; ;
Mass emission standard "Bharat stage III" for 2 wheelers was made effective throughout the India from:

2005
2010
2015
2019

ko —

W

Al:1

A2:2

A3:3

Ad:4

Objective Question

629 30414 § i BN 5 i %
Arrange the given steps involved in isolating pure DNA from a bacterial cell in correct sequence:

A Treatment with chilled ethanol
B. Treatment with ribonuclease

C. Treatment with lysozyme

D. Protease treatment of the sample

Choose the correct answer from the options given below:

1.D,B.C.A
2D B A
B ECAD
4 A CRD

Al:1

A2:2

A3:3

A4:4
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Objective Question

630 30415 ; : . i Vg : -
Identify the correct sequence of steps involved in the construction of artificial recombinant DNA molecule

A. Use of restriction enzymes

B. Identification of DNA with desirable gene
C. Choose plasmids as vector

D. Use of DNA ligase

Choose the correct answer from the options given below:

LCIDARB
2Z2B.DAC
3B EpA D
4B e A B

Al:1

A2:2

A3:3

A4:4

Objective Question

631 30416 ; ;
Identify the correct sequence of events during the process of pregnancy:

A. Implantation

B. Placenta formation
C. Fertilisation

D. Parturition

E. Cleavage

Choose the correct answer from the options given below:

1.A,B.C.D.E
B DL EBA
3.C,A,E.D,B
4.C.E.A.B.D

Al:1

A2:2

A3:3

A4 4

Objective Question
632/30417
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The technique of DNA finger printing involve southern blot hybridisation using labelled VNTR as a probe. The sequence of events in this
technique are:

A. Separation of DNA fragments by electrophoresis.

B. Detection of hybridised DNA fragments by autoradiography.

C. Hybridisation using labelled VNTR probe.

D. Isolation of DNA followed by digestion of DNA by restriction endonucleases.
E. Transferring of separated DNA fragments to synthetic membrane.

Choose the correct answer form the options given below:

1.LALB.C.D.E
2ZED.CBA
3. ARG B
4. D.A.C.B.E

Al:1

A2:2

A3:3

A4:4

Objective Question

63330418 i ; i
Which structures are not present in the typical anatropous ovule ?

A. Micropyle

B. Stigma

C. Chalazal pole
D. Funicle

E. Style

Choose the correct answer form the options given below:

1. A, B Ounly
2.B. C Only
. B. E Only
. B. D Ouly

S

Al:1

A2:2

A3:3

Ad:4

Objective Question
63430419
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Which structure are not homologous?

A. Forelimbs of whales and bats

B. Heart of birds and mammals

C. Eye of octopus and eye of mammals
D. Brain of reptile and birds

E. Flippers of penguins and dolphins

Choose the correct answer form the options given below:

. A E Only
. A B Only
. C.D Only
. C, E Only

b =

RS

Al :1

A2:2

A3:3

Ad:4

Objective Question

635 30420 H . B i 3 T
Which of the following is/are included under cannabinoids?

A. Smack

B. Charas

C. Amphetamines
D. Dopamine

E. Hashish

Choose the correct answer form the options given below:

. A, B Only
. B. E Only
A, C.D Only
. A.B.E Ouly

R

Al:1

A2:2

A3:3

Ad:4

Objective Question
636 30421
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Infection of Ascaris occurs due to

A. Contaminated food
B. Contaminated water
C. Mosquito bite

D. Tse-Tse fly

Choose the correct answer form the options given below:

.A. B Only
. C, D Only
.A. D Ounly
. A E Only

b =

S

Al:1

A2:2

A3:3

Ad:4

Objective Question

637)30422 Mateh List I with List IT
LISTI LISTII
A [Ovule I |Testa (outer seed coat
B. |Outer integument of ovule] II. [Endosperm
C. |Secondary nucleus III. |Perisperm
D. [Nucellus IV [Seed

Choose the correct answer from the options given below:

1. A-IV. B-I. C-II. D-IT1
2. A-L B-IL C-III. D-IV
3. A-IV. B-ITI. C-I1. D-I
4. A-II. B-IIL. C-1. D-IV

Al:1
A2:2
A3:3
A4 -4

Objective Question
63830423
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LISTI LISTII
. [Pletotropy I. [Thalassemua
. |Genetic disease of synthesising an mncorrectly functioning globin 11 [Phenylketonuria

|| w|=

Genetic disease where a protein in the cascade of blood clotting 1s affected| II1.

Sickle cell anaemig)

. [Disease caused due to synthesising too few globin molecules

" [Haemophilia

Choose the correct answer from the options given below:

1. A-IL. B-1. C-IV. D-II1
2. A-IV, B-III. C-I. D-IT
3. A-IL, B-II1. C-IV. D-I
4. A-IIL B-IL. C-IV. D-I

Al:1
A2:2
A3:3
A4:4

Objective Question

639 30424 5 - ;
Match List I with List IT

LISTI

LISTII

. [Penicillin 1. Btreptococcus sp.

. |Cyclosporin II. Monascus purpureus

lwlle] [+ b=

. |Statins 111 VPenicillium notatum

. |Streptokinase | IV. [Trichoderma polysporum

Choose the correct answer from the options given below:

1. A-L. B-II. C-IV. D-I1I
2. A-IV, B-I. C-11. D-III
3. A-IIL B-IV. C-I1. D-I
4. A-IL. B-L. C-III. D-IV

Al: 1
A2:2
A3:3
Ad:4

Objective Question
64030425
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Match List I with List IT

LISTI LISTII
A |Citric Acad 1. Lactobacilius
B. |Acetic Acid II. |Clostridium
C. Butyric Acid | IIL |4dspergillus
D. [Lactic Acid IV. HUcetobacter

Choose the correct answer from the options given below:

1. A-IL. B-III. C-1. D-IV
2. AL B-IV. C-I1. D-I
3. A-IV. B-I1. C-II1. D-I
4. A-L. B-IL C-II. D-IV

Al:1
A2:2
A3:3
A4:4

Objective Question

64130501 ; i s . :
The process by which a manager synchronises the activities of different departments is known as

1. Cooperation
2. Coordination
. Centralisation
. Controlling

IS )

Al:1

A2:2

A3:3

A4 :4

Objective Question
642/30502

Mr. Mohan is performing duty to estimate manpower requirement and recruit highly qualified candidates. Which function of management

is being performed by Mr. Mohan?

. Planning

. Organising
. Staffing

. Directing

O

Al:1

A2:2

A3:3
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A4 4

Objective Question

643 30503 ; 3z i : (e i T ; i 3 S ‘
The study of movements like lifting, putting objects. sitting and changing position ete. which are undertaken while doing a job is called

1. Method Study
2. Motion Study
. Fatigue Study
. Time Study

S V1

Al:l
A2:2
A3:3
Ad:4

Objective Question

644/ 30504 . o P T — 0 -
Identify the principle of management that stresses on "Minimisation of turnover of employees to maintain organisational efficiency”.

1. Centralisation and Decentralisation
2. Remuneration of employees

. Stability of personnel

. Equity

S V]

Al:l
A2:2
A3:3
Ad:4

Objective Question

645 30505 ; i § i i ; T T
Identity the economic reforms which focuses on the greater role of private sector in the nation building process and disinvestments of the

public sector.

1. Liberalisation
2. Globalisation
. Privatisation

. FIPB

N )

Al:1

A2:2

A3:3

Ad:4
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Objective Question

646 30506 : G ¢
The Government of India. made an announcement of demonetisation on .

. September 8, 2016
. September 11, 2016
. November 8, 2016
. November 11. 2016

[

S P

Al: 1
A2:2
A3:3
Ad:4

Objective Question

647 30507 i o : ‘
Identify the statement which is not true for planning process.

A. Implementing the plan involves organising for labour and purchase of machinery.
B. Selecting an alternative is not the real point of decision making.

C. Forecasting is not important in developing premises.

D. Alternatives are evaluated in the light of feasibility and consequences.

E. Folow up action means monitoring the plans.

Choose the correct answer from the options given below:

1. Aonly
2.B only
3.B and C only
4. D and E only

Al:1
A2:2
A3:3
A4 4

Objective Question

64830508 ; T i 3
Identify the limitation of planning from the given statements.

A. Planning may work in dynamic environment as the environment is constant.
B. Planning reduces the relativity.

C. Planning involves huge costs.

D. Planning does give guarantee for the success of an enterprises.

E. Planning leads to rigidity.

Choose the correct answer from the options given below:

1. Aand E only
2. Aand D only
.B. Cand E only
. A. B and C only

S
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Al:1

A2:2

A3:3

Ad:4

Objective Question

649 30509 Ehy ‘
Arrange the process of organising in the correct sequence.

A. Departmentalisation

B. Identification and division of work

C. Establishing authority and reporting relationship
D. Assignment of duties

Choose the correct answer from the options given below:

il S
> P
nwpE e
SNel=Ne
oognd

Al:1

A2:2

A3:3

A4:4

Objective Question

650 30510
"Span of Management" refers to:

. Number of subordinates that can be effectively managed by a superior.
. Department within an organisation

. Number of functions performed within an organisation

. Number of employees within an organisation

b =

O]

Al:1

A2:2

A3:3

A4 :4

Objective Question
65130511

file:///E:/NCET 1/ZIP/31_|_Live_Eng/31_I_Live_Eng_401-800.html 114/174



8/9/23, 6:49 PM 31_|_Live_Eng_401-800.html

Considering the concept of "Training” identify On The Job training methods.

A. Coaching

B. Case study

C. Apprenticeship programmes
D. Job rotation

E. Vestibule training

Choose the correct answer from the options given below:

LA CandD

.A. B and C only
.B. C and D only
. B and E only

b =

RS

Al :1

A2:2

A3:3

Ad:4

Objective Question

652 30512 ; o i
Identify the correct sequence of staffing process in reverse order.

A. Performance appraisal

B. Compensation

C. Training and development

D. Placement and orientation

E. Promotion and career planning

Choose the correct answer from the options given below:

W O
iR

Prwe
00N w

R
U0 O

Al:1

A2:2

A3:3

A4 4

Objective Question
65330513
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Identify the correct sequence of motivation process.

A, Unsatisfied need
B. Drives

C. Tension

D. Satisfied need

E. Search behaviour

Choose the correct answer from the options given below:

1.A,B.E.C.D
2.A,C,B.E,D
3.C.A.E.B.D
4. A.B.C.E.D

Al:1

A2:2

A3:3

Ad:4

Objective Question

654 30514 : ; ronay : : ) i i
Considering the concept of directing function of management. which is/are element(s) of direction.

A. Specialisation
B. Supervision

C. Leadership

D. Communication
E. Motivation

Choose the correct answer from the options given below:

1. A. B and C only

2. C.B. D and A only
.B. C.D and E only
A B. CandD only

S

Al:1

A2:2

A3:3

A4 4

Objective Question
65530515
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Match List I with List IT

LISTI LIST IT
A [Critical Point Control I. |Little control on external factors
B. |Setting of performance standardg| II. |Relationship among cost, volume and profii|
C. [Limitation of controlling I11. |First step of controlling
D. [Breakeven analysis IV. [Key Result Area

Choose the correct answer from the options given below:

CA-IV. B-IIL C-1. D-II
. A-L B-IL. C-IV, D-III
3. A-IL. B-L. C-III. D-IV
4. A-IIL B-IV. C-I. D-II

o =

Al:1

A2:2

A3:3

Ad:4

Objective Question

65630516 s , : - ; - :
Controlling is a systematic process involving following steps". Arrange these in reverse order.

A. Measurement of actual performance.

B. Analysing deviations

C. Setting performance standards

D. Comparison of actual performance with standards
E. Taking corrective action

Choose the correct answer from the options given below:

oW

W=
O
Foow
gprwo
o I

Al:1

A2:2

A3:3

Ad:4

Objective Question
65730517
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Match List I with List IT

LISTI LIST II
A [Nature of Business I. |Some organisations are labour intensive and capital inves]
B. |Scale of operation 11 |Assets become obsolete sooner
C. |Choice of technique III. PManufacturing and retail
D. |Technology upgradation] IV. [Higher investment i large scale business

Choose the correct answer from the options given below:

1. A-IIL. B-IV. C-II. D-1
2. A-L B-IL C-III. D-IV
3. A-IIL B-IV. C-1. D-IT
4. A-IV. B-III. C-I. D-IT

Al:1
A2:2
A3:3
A4:4

Objective Question

658 30518 2 2vas g 5 F i 3 i T g i
"This decision is about the quantum of finance to be raised from various long term sources. It also involves identification of various

available sources." Identify the financial decision being reflected above.

1. Capital budgeting decision
2. Dividend decision

. Investment decision

. Financing decision

S

Al:1

A2:2

A3:3

Ad:4

Objective Question

65930519 ; i ; ; :
Which are not the methods of floating new issues in the primary market?

A. Rights issue

B. Offer through prospectus
C. Certificate of deposits
D. Commercial paper

E. e-IPO's

Choose the correct answer from the options given below:

. A, Band C only
.C.D and E only
C and D only
.Dand E only

= Lo ko =
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Al:1

A2:2
A3:3
Ad:4

Objective Question

660 30520 ; i F
National Stock Exchange was recognised as a stock exchange in:

1. April 1992
2. April 1993
3. July 1993
4. July 1994

Al: 1
A2:2
A3:3
A4 4

Objective Question

661 30521 : : ;
Match List I with List IT

1ISTI LISTII
. [Production concept] 1. JAims to satisfy customers need
[Product concept II. |Quality goods production
Selling concept II1. [Large production

oo B =

. Marketing concept | IV. [Persuading customers to buy product

Choose the correct answer from the options given below:

. A-L B-IL. C-IIL. D-IV
. A-IL B-1. C-IIL. D-IV
3. AL B-I. C-IL. D-IV
4. A-IIL B-IL. C-IV. D-I

| S

Al:1

A2:2

A3:3

Ad:4

Objective Question
66230522
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LISTI

LISTII

. |[Convenience products| 1. |Antique paintings and artifacts

Shopping products II. Milk, vegetables etc.

Speciality products ITI. (Medicine, newspaper, cigarette

vl Lol =]

. [Non-Durable products| IV. [Clothes,

shoes, jewellery

Choose the correct answer from the options given below:

Al:

A2:

A3:

A4 :

1. A-IL. B-1. C-IV. D-I11
2. AL B-IV. C-I. D-IT
3. A-IL. B-L. C-III. D-IV
4. A-L B-IL C-II. D-IV

Objective Question

663 30523 ; ; i
Match List I with List IT
LISTI LISTII
A. JRight to be protected 1. |About quality of products
B (R b e I Cons:umerg interests will recerve due
consideration
C. JRight to be heard and to be assured| [I1. A_ge_lms‘r _the macketing of productst ser\'lf:es
fwhich are hazardous to life and property
1% [k be stasiad v A;cess to variety of goods/service at competitive
price
Choose the correct answer from the options given below:
1. A-IV, B-II, C-III. D-1
2. A-IV, B-III. C-II. D-I
3. A-IILL B-IV. C-I1, D-I
4. A-IL B-II1. C-IV. D-I
Al:1
A2:2
A3:3
Ad:4

Objective Question

66430524
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"Subject to the provision of the Consumer Protection Act 2019, the District Commission shall have jurisdiction to entertain complaints
where the value of the goods or services pay as consideration does not exceeds rupees.

1. 7 crore
2. 1 crore
. 5 crore
. 10 crore

o

Al:1

A2:2

A3:3

Ad:4

Objective Question

665 30525 i ; 3 : ? " ‘
Arrange the following steps of process of setting up of a business to be followed after scanning business environment.

A. Appraisal by the funding agencies

B. Assessment of feasibility of idea and preparation of a business plan
C. Project commissioning and launch

D. Adaptation and management of growth

E. Development of product/service idea

Choose the correct answer from the options given below:

1 A B TR
2.C,B.EAD
3.EB.ACD
4. D.C.E.A.B

Al:1

A2:2

A3:3

Ad:4

Objective Question
666 30601
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Match List I with List IT

SBEL LISTII
Properties of Transitional
Reasons
metals
: [High charge/ size ratio of metal and)]
A [Catalytic property | D i s
[vacant 'd’ orbital
B. |Alloy formation II. |Crystalline structure of metal
C. |Complex formation I11. [Variable oxidation state
B [Bertbihranile [0 Similar atomic radii of transition
Imetals

Choose the correct answer from the options given below:

1. A-IIL. B-IV. C-1. D-II
2. A-IV, B-IIIL C-I1. D-I
3. A-IL. B-L. C-III. D-IV
4. A-L B-IL. C-IV. D-III

Al:1
A2:2
A3:3
A4:4

Objective Question

667 30602 i ;
Lyophilic colloids are;

A not easily visible even under ultramicroscopy

B. easily precipitated by the addition of small amount of suitable electrolyte.

C. reversible in nature
D. formed only by special methods
E. aggregates of many molecules.

Choose the correct answer from the options given below:

1. A. B. C Ouly
2.C.D.E. only
. A and C Only
D and E Only

= e

Al:1

A2:2

A3:3

Ad:4

Objective Question
668 30603
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The hormone which is responsible to control the carbohydrate metabolism. modulate inflammation and to control stress level is:-

1. Insulin

2. Glucocorticoid

3. Mineral Corticoids
4. Thyroxine

Al:1
A2:2
A3:3
A4 -4

Objective Question

66930604 Match List I with List IT

LISTI LISTI

A Coloured ion formation by 1 [High charge/size ratio of
" [rransition metal " |metal 10n

B Com]_al_ex formation by I _Similar tonic radu of metal
" [rransition metal " Jons

¢, |poy Toemation by transitian, (55 Lo it enenl so

imetal

D Catall_\f[ic property by v \'ariab_le oxidation state of

" [transition metal " jmetal 1on.

Choose the correct answer from the options given below:

1. A-IIL. B-II. C-1. D-IV
2. AL B-I. C-IL. D-IV
3. A-IL. B-L. C-III. D-IV
4. A-L B-IL. C-III. D-IV

Al:1
A2:2
A3:3
A4:4

Objective Question
67030605
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Match List I with List IT

LISTI LIST II
[Racemic [Preservation of spatial arrangement of
A o E : : =
imodification lbonds during reaction
|A product of a reaction at an asymmetric
B. |Chirality II. |carbon atom. which has abstituent on the

opposite side of group replaced.

I JAn equimolar mixture of the enantiomers
" Jhaving zero optical rotation

D. [Retention v

C. |Inversion

The property by which an object does
Inot superimpose on its image

Choose the correct answer from the options given below:

1. A-IV, B-IIL. C-II. DF-I
2. AL B-IV. C-I1. D-I
AL B-IV. C-1. D-II
. A-IV. B-IIL C-I. D-II

S

Al:l
A2:2
A3:3
Ad:4

Objective Question

671 30606 : ; 5 : : . B o ; ; .
Benzoic acid forms a dimer in benzene. Assuming the compound to be 100% aszociated, the elevation in boiling point of 0.1 molal of

this solution is

[Ky, for benzene = 4.9 K kg mol 1]

1.0245 K
2.0490K
L0980 K
490K

S V]

Al:1
A2:2
A3:3
A4 4

Objective Question

67230607 i : : ; : : 2
A small amount of concentrated H,SO, is used during esterification of Aleohol with carboxylic acid to :

1. To shift the equilibrium to the left

2. To remove water from the reaction

. To neutralise excess of alcohol.

. To neutralise excess of carboxylic acid

S V]

Al :1
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A2:2

A3:3

A4 4

Objective Question

673 30608
F- centres are-

. metal excess defect due to the presence of extra cations

. metal excess defect due to the presence of interstitial site
. anionic sites occupied by unpaired electron

. metal deficiency defect in stoichiometric composition

B

Al:1

A2:2

A3:3

Ad:4

Objective Question

67430609 i g ; : : : £ g iy
Arrange the following compounds in decreasing order of rate of reaction towards nucleophilic substitution :-

NO,

=

=
A ys
L

v

et

z
Iuo

NO,

tr
&
7

NO

Choose the correct answer from the options given below:

B
w0
SEE
P op
0w
nodm

ot

Al:1
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A2:2
A3:3
A4 4

Objective Question

67530610 ; : ; £
Measurement of osmotic pressure is advantageous to other methods in determining the molar masses of solutes because-

A. it is used to determine the molar masses of proteins

B. it is used to determine the molar masses of ionic compounds
C. it is measured at room temperature

D. molarity of the solution is used

E. molality of the solution is used

Choose the correct answer from the options given below:

1.A.C.D Only
2.B.C.E Oaly
A, E Only

B

3.
4.B and D Only

Al: 1
A2:2
A3:3
A4 4

Objective Question

676 30611 ; . .
Consider the reaction

14H" + Cry0,% + 66" ——2Cr** + 7H,0

How many Faraday of clectricity needed to reduce 1 mol of equitation Cry( )2

2F
3F
4F
6F

ol

P

Al:1

A2:2

A3:3

Ad:4

Objective Question
67730612
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Decomposition of a gas 'x' is a first order reaction having rate constant k=1 x 1o,

It's half life period will be

1.1.93 x10' s
2.6.93 x10%s
. 6.93 x10% s
.6.93 x10% s

S Y]

Al: 1
A2:2
A3:3
A4 4

Objective Question

678 30613 e T
Agpartame is limited to cold foods and soft drinks because-

1. It does not provide calories

2. Tt retards the action of oxygen on food.
. It is unstable at cooking temperatures

. It prevents microbial growth

S S

Al:1
A2:2
A3:3
Ad:4

Objective Question

679 30614 : : ; ; = ; % =5 3
R.N.A. is one of nucleic acid. on the basis of various functions RN.A. is divided into m-R.N.A., t-RN.A. and -R N.A.

Which of the above is responsible for protein symthesis-

.m-R.N.A

t-RNLA

J.r-RNA

4, m-RNA&t-RNA

[

Al:1
A2:2
A3:3
A4 4

Objective Question
680 30615
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Nylon-6 is prepared by heating caprolactum with water caprolachim is -

H,C —— CH,
H
|
N
2 \
C=0
i
|
N
H,c=7 TNCH,
3./ \
H;{T\ /c—o
H,C —— CH,
OH
CH,4
Al:l
A2:2
A3:3
Ad:4

Objective Question
68130616

A. Collision frequency

B. Proper orientation of molecules

According to collisions theory for an effective collision, the two conditions required are-

C. Molecules must have energy equal to or greater than activation energy

D. improper orientation of molecules

E. threshold energy and activation energy

Choose the correct answer from the options given below:

1. Aand B Only
2. B and C Only
3. Cand D Only
4. Aand E Only

Al:1

A2:2

file:///E:/NCET 1/ZIP/31_|_Live_Eng/31_I_Live_Eng_401-800.html
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A3:3
Ad:4

Objective Question

682 30617 ¢ W i
For concentrating an ore containing ZnS and PbS the depressant used is

. Pine oil
. NaCl

. Aniline
. NaCN

B

Al:1
A2:2
A3:3
A4:4

Objective Question

683 30618 ; 5 sy
Adsorption of gases on the surface of a solid is always an

. Endothermic process

. Exothermic process

. Endothermic in Chemisorption but exothermic in Physisorption
. Exothermic in Chemisorption but endothermic in Physisorption

[

S V]

Al:l
A2:2
A3:3
Ad:4

Objective Question

684 30619 : i 3 : 3
Tonic complex which has the highest magnetic moment value is -

Al:1
A2:2

A3:3
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Ad:4

Objective Question

68530620 :
Cross aldol condensation does not take place between

. two aldehyde molecules beyond acetaldehyde
. two ketone molecules

. one aldehyde and one ketone molecule

. two formaldehyde molecules.

o =

S

Al:1
A2:2
A3:3
A4 4

Objective Question

686 30621 5 i : 3
In Rosenmund reaction Benzoyl chloride can be converted into Benzaldehyde by using

1.SnCl,+HCl

2. CrO;

3.H, + Pd—BaSO,
4, Cr02C12 + CSE

Al:l
A2:2
A3:3
Ad:4

Objective Question

68730622 2 x ; ;
Decreasing order of basic strength of the following compound is

A. C¢HsNH,
B.(CH;), NH
C.NH,

D. CH,NH,

Choose the correct answer from the options given below:

e =

= W

@ p 0 O
SECE-RY
Awow
By

Al:1
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A2:2

A3:3

Ad:4

Objective Question
688 30623

. Both lone pairs are at axial position

. Both lone pairs are at equatorial position

. One lone pair at axial and other pair at equatorial position
. Position of both lone pairs is flexible

P

Al:1
A2:2
A3:3
A4:4
Objective Question

689 30624

1. Salicylic Acid

2. Salicylaldehyde

. both Salicylic acid and Salicylaldehyde
. Benzal chloride

IS )

Al:1
A2:2
A3:3
A4 -4

Objective Question

690 30625 ; ﬂ i
XeF,, XeF,, XeFg have lone pairs of electrons respectively as-

12305
2:3.21
. 132
. 12,5

S ]

Al:1

A2:2

A3:3
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The molecular shape of BF;is slightly bent 'T", pick the correct choice of placement of lone pairs

On treating phenol with chloroform followed by hydrolysis in the presence of alkali produces
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Ad:4

Objective Question

691 30701 ; " E ; : : . 2 i
Which of the following environmentalism is based on "anthropocentric” view point?

. Deep ecology

. Social ecology

. Shallow ecology
. Synecology

o o=

S

Al:1

A2:2

A3:3

Ad:4

Objective Question

2 2 : ; ;
6523070 Match List I with List IT

LISTI LISTII
(Author) (Book)
[Barry Commoner| I |The closing circlel
Gary Snvder I1. |Cold mountain

. [Rachel Carson | IIL |Silent spring
. |Wendell Berry IV |A place on earth

ofo]w|»

Choose the correct answer from the options given below:

L. (A)- (D). (B) - (I). (C) - (II). (D) - (IV)
2. (A)-(I). (B) - (IV). (C) - (I). (D) - (I1I)

3.(A)-(IV). (B) - (). (C) - (ID). (D) - (D)
4. (A) - (ID). (B) - (I). (C) - (IV). (D) - (1)
Al:1
A2:2
A3:3
Ad:4

Objective Question

69330703 ; . ; £ 7 T i
Which of the following region is expected to have the highest biodiversity?

1. Amazonian rain forest
2. Midwest of the USA

. Greenland

. Arctics

S PV

Al :1
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A2:2

A3:3
Ad:4

Objective Question

69430704 g : : ey : . : i
The interaction between fungi and the roots of higher plants as seen in mycorrhizae is an example of :

1. Commensalism
2. Mutualism

. Competition

. Parasitism

S

Al: 1
A2:2
A3:3
A4 4

Objective Question

695 30705 5 (158 sy £ ; ; ‘
A community that is in near equlibrium with the environment is termed as:

1. Pioneer species

2. Climax community
3. Seral community
4. Primary species

Al:1
A2:2
A3:3
Ad:4

Objective Question

69630706 i " ; ; . : i
Which of the following are generally not given any place in the ecological pyramids?

. Primary consumers
. Saprophytes

. Tertiary consumers
. Primary producers

[

IS P

Al:1

A2:2

A3:3
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Ad:4

Objective Question

69730707 Match List I with List IT
LISTI LISTII
(National Park) (State)
A Manas 1. Madhya Pradesh
B. [Kanha II. |Uttar Pradesh
C. [Nanda devi 11T JAssam
D. [Dudhwa IV |Uttarakhand

Choose the correct answer from the options given below:

L. (A)- (D). (B) - (). (C) - (IV). (D) - (II)
2. (A) - II). (B) - (D). (C) - AV). (D) - (II)

3.(A)-ID). (B) - ). (C) - (II). (D) - (IV)
4. (A) - (ID). (B) - (IV). (C) - I). (D) - (1)
Al:1
A2:2
A3:3
Ad:4

Objective Question

698 30708 ; § ;
Photochemical smog in ambient atmosphere

. 18 formed in warm and sunny climate.

. is formed by reactions between NO, and VOC.
. contains peroxy acetyl nitrate.

. is reducing in nature.

. is formed during winter in New Delhi.

Mmoo we

Choose the correct answer from the options given below:

.B. C.D and E only
. A.Band C only
3.B. Cand E only
.A.B. CandD only

b -

e

Al:1

A2:2

A3:3

Ad:4

Objective Question
699 30709
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Which of the following are criteria pollutant under National Ambient Air Quality Standards?

A.PMy,
B.PM, 5
C.Co
D.CO,
E. O;

Choose the correct answer from the options given below:

1. B. C and D only

2.B.C.D and E only
.A.B.CandE only
.A.B. CandD only

IS P

Al:1
A2:2
A3:3
Ad:4

Objective Question

70030710 ; ; ; '
Commonly used oxident in Chemical Oxygen Demand (COD) assay test of water is

CHCIO,

. KsCr205

3. HNO;

4. Reactive Chlorine

o =

Al:l
A2:2
A3:3
Ad:4

Objective Question

701 30711 i . ¥ ; f § z ; . o
Which of the following soil horizon of a typical soil profile is also knowns as zone of illuviation?

1. A horizon
2. B horizon
. C horizon
. R horizon

S V]

Al:1

A2:2

A3:3
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A4 4

Objective Question

702 30712 : ; i 3 - ; oA
The process of excessive plant growth in lakes due to nutrient enrichment which eventually creates low dissolved oxygen (DO) condition

in water and kills the aquatic life. is known as

. Biomagnification
. Biopiracy

. Bioaccumulation
. Eutrophication

2 =

E V]

Al:l
A2:2
A3:3
Ad:4

Objective Question

703 30713 i i i 1 ; z % . ;
Removwal of dissolved and suspended biological matter using acrobic bacteria and fungal filament in water treatment is a part of-

1. Primary treatment

2. Pre primary treatment
3. Secondary treatment
4. Tertiary treatment

Al:l
A2:2
A3:3
Ad:4

Objective Question

704 30714 H . ¥ ] : % ‘
Which of the following method is not suitable for energy generation from waste?

. Pyrolysis

. Gassification

. Thermal depolymerisation
. Incineration

[

S 1

Al:1

A2:2

A3:3

A4 :4

Objective Question
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70530715 e >
Organic farming does not promote:

1. Crop diversity

2. Soil management

. Weed management

. Open system with human supplied inputs

S P

Al:1

A2:2

A3:3

Ad:4

Objective Question

70630716 : : :
The concept of food security does not primarily focus upon

. Food availibility
. Food access

. Food use

. Food production

[

S PV

Al:1

A2:2

A3:3

Ad:4

Objective Question

707 30717 i ’ B4 :
Which of the following is not an example of Inexhaustible resources?

. Solar energy
. Natural gas

. Water energy
. Wind energy

o =

S P

Al:1
A2:2
A3:3
A4 :4

Objective Question
708/30718
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Which of the following is not an impact of acid rain?

. Leaching of metals

. Reduction 1in soil fertility

. Defacing of monuments

. Photochemical smog formation

a0 BD =

Al:1

A2:2

A3:3

Ad:4

Objective Question

709 30719 Vi 5 F: : i i g "
Shifting to electrical vehicle will reduce GHG emissions. This is a close example of

. Negative consumption externality
. Positive production externality

. Positive consumption externality
. Negative production externality

W BD =

Al:1

A2:2

A3:3

Ad:4

Objective Question

71030720 i ; i ; :
Arrange the following atmospheric layers in the sequence starting from the top of the atmosphere to the Earth's surface.

A, Tropopause
B. Stratopause
C. Stratosphere
D. Mesopause

E. Thermosphere

Choose the correct answer from the options given below:

o —
w p I i
> WO o
Onow
nowo
(e lea PN

Fac

Al:1

A2:2

A3:3

A4 4
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Objective Question

711 30721 i . ¥ 5 G
Which of the following statement is incorrect?

. Ozone layer partially absorbs UV-B radiation emmitted from sun.

. Chances of cataract will rise with the inerease in the level of UV-B radiations at Earth's surface.
. Ozone layer completely absorbs UV-A radiation emmitted from Sun.

. Ozone layer completely absorbs UV-C radiation emmitted from Sun

[

o

Al:1

A2:2

A3:3

Ad:4

Objective Question

712 30722 i 5 ;
Arrange the following in increasing order of wavelength

A. Infrared radiation

B. Gamma radiation

C. Ultra violet -C radiation
D. X-rays

E. Ultra violet- A radiation

Choose the correct answer from the options given below:

P B
o> ww
ww oo
Moo
om0
e w e

Al:l
A2:2
A3:3
Ad:4

Objective Question

71330723 i . G i :
Which of the following is not a push factor for people's migration?

1. Crop failure and drought
2. Pollution and flooding

. Better job opportunities

. Poverty

S Y

Al:1

A2:2

A3:3
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Ad:4

Objective Question
71430724

as and came into force in the year

1. Basel Convention, 1985
2. Bamako Convention. 1995
. Bamako Convention. 1998
. Basel Convention, 1998

N )

Al:1
A2:2
A3:3
Ad:4
Objective Question

71530725

1. Brazil and Bhutan

2. Switzerland and Germany
. Maxico and Norway

. Brazil and Norway

IS )

Al:1

A2:2

A3:3

A4 :4

Objective Question

716180801 Eil in the blank-

import pickle
t=open("data.dat"."rb")
d= Jdoad(f)

f.close()

. unpickle
. pickling
. pickle

. pick

s =

e

Al:1
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A treaty of African nations which prohibits the import of any hazardous waste (including radioactive) into Africa is knowns

Which of the following countries first signed an International strategy REDD+ in the year 20057
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A2:2
A3:3
Ad:4
Objective Question

717 30802

1. De-serialization
2. Loading

. Serialization

. Unpickling

S

Al:1
A2:2
A3:3
A4 4

Objective Question

718 30803 ; :
Data inconsistency occurs when-

1. Same data maintained in different places do not match.
2. There is no same type of data.

3. If data is deleted from all the locations.

4. When at the same time data is entered at different places.

Al:1
A2:2
A3:3
A4 4

Objective Question

71930804 i . i
Which of the following statements are correct?

A. Foreign key can't take NULL value.

B. Tuples are ordered in a relation as it is stored in tabular form.

C. Each tuple in a relation is distinet.
D. Sequence of attributes in a relation is immaterial.

Choose the correct answer from the options given below:

1. (A) and (B) only.
2. (A). (B) and (D) only.
. (A) and (C) only.
.(C) and (D) only.

o
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Which of the following is the process of transforming data or an object in memory (RAM) to a stream of bytes called byte streams?
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Al:1

A2:2

A3:3

Ad:4

Objective Question

720 30805 ; i : -
The set of permitted values for each attribute is called its-

. Attribute
. Tuple

. Domain
. Degree

b =

S P

Al:1
A2:2
A3:3
Ad:4

Objective Question

721 30806 ; " B4 ; i
Which of the following is not an example of single row function?

1. Numeric function
2. String function

. Date function

. Aggregate function

IS

Al:1

A2:2

A3:3

Ad:4

Objective Question
722/30807
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The SQL query-
Select Count(*) from Inventory Where Model = "VXI":

A. displays the total number of different types of models.

B. displays the total number of records from table inventory having a model as VXI.
C. displays the average number of all the cars with model VXI.

D. displays the maximum number of a car with model VXI.

Choose the correct answer from the options given below:

1. (A) and (B) only.
2. (B) only.
3. (A) and (C) only.
4. (D) only.

Al:1
A2:2
A3:3
Ad:4

Objective Question

23 30808 : : ;
7 Match List I with List IT

LISTI LISTII
. [Mesh toplogy | I |All nodes are connected with single backcone wire.
Tree topology | 11 [Hybrid topology
[Bus topology | [II. [Data transmission 1s unidirectional.
. [Rang topology | IV. |nin-1)/2 number of wires are required, if there are n nodes |

vl fol =] =

Choose the correct answer from the options given below:

L. (A)-(IV). (B) - (D). (C) - (II). (D) - (I)
2.(A)-(@V). (B) - (I). (C) - (D. (D) - (1)

3.(A) - D). (B) - AV). (C) - (). (D) - (IT)
4.(A)-(IV). (B) - (D). (C) - I). (D) - (III)
Al:1
A2:2
A3:3
Ad:4

Objective Question
72430809

Which of the following device is preferred to connect each computer in each block for network connectivity?

. Repeater
. Firewall
. Switch

. Modem

o =

S

Al:1
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A2:2

A3:3

A4 :4

Objective Question

725 30810

31_|_Live_Eng_401-800.html

A network formed by connecting a few personal devices like computers, laptops ete. which lie within a small range of around 10 meters

18-

. Local Area Network

. Personal Area Network

. Metropolitan Area Network
. Wide Area Network

O

Al:1

A2:2

A3:3

Ad:4

Objective Question

726 30811

Consider the following program to display data from a text file-
fileobject=open("practice.txt"."r")
str=fileobject.readline()
while str:
print(str)
str=fileobject.readline()
fileobject.close()

In the above program which method will return an empty string?

1. open( )
2. print( )

L)

. readline( )
. close( )

oS

Al:1

A2:2

A3:3

A4:4

Objective Question

72730812
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Identify the incorrect statements-

A. Queue is commonly used data structure to convert an Infix expression into equivalent Prefix/Postfix notation.
B. A single traversal from left to right of Prefix/Postfix expression is sufficient to evaluate the expression as operators are correctly

placed as per their order of precedence.

C. PUSH and POP are two basic operations performed on a stack for deletion and insertion of elements. respectively.

D. Stack follows FIFO principle.

E. Any arithmetic expression can be represented in Infix, Prefix and Postfix.

Choose the correct answer from the options given below:

. (A). (C) and (D) only.
. (A). (B) and (D) only.
. (B). (C) and (D) only.
. (B). (C). (D) and (E) only.

o =

IS )

Al:l
A2:2
A3:3
Ad:4

Objective Question

728 30813 = : : ;
The expression (A+B)/(C-D) in Postfix form is-

1. A+B CD-/
2. AB+CD-/
. AB+CD/-
. ABCD+/-

S

Al:1

A2:2

A3:3

Ad:4

Objective Question

72930814 i . i
Which of the following is true about a deque?

. supports only stack operations.

. supports stack and queue operations.

. supports stack but not queue operations.
. supports queue but not stack operations.

a0 =

Al:1

A2:2

A3:3
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A4

4

Objective Question

730 30815

Which of the following statements are correct?

Choose the correct answer from the options given below:

R

Al:

A. deque is used for insertion of the data from any end.

31_|_Live_Eng_401-800.html

B. deque is used for deleting the element from one end only.

C. insertion in a queue is done at the rear end.
D. deque supports only queue operation.

. (A) and (C) only.
. (B) and (C) only.
. (A). (B) and (D) only.
. (A) and (D) only.

A2:2

A3:3

Ad:4

Objective Question

731 30816
Coll

IS )

Al:

A2:

A3:

A4 :

ision will never occur in Hashing if-

. hash function is perfect.

. there 1s no empty slot.

. empty slot is available.

. half list is empty and half is filled.

Objective Question

73230817
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Find the correct statements-

A. Binary search is faster than linear search.

B. In binary search algorithm, after every pass of the algorithm, search area gets reduced by one fourth.
C. When two elements map to the same slot in the hash table, it is called collision.

D. The binary search algorithm does not change the list.

E. Binary search may not be applied on all the input list on which linear search can be applied.

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (C). (D) and (E) only.
. (B). (C) and (E) only.
.(A). (B). (C). (D) and (E).

RS

Al:1

A2:2

A3:3

Ad:4

Objective Question

733 30818 i . ¥ i i
Which of the following are sorting algorithms?

A Insertion

B. BFS

C. Round Robin
D. Bubble

Choose the correct answer from the options given below:

. (C) and (D) only.
. (A). (B) and (D) only.
. (A) and (D) only.
. (A) and (C) only.

L R O

Al:1

A2:2

A3:3

A4:4

Objective Question

734 30819 i . B i g i i i
Which of the following is not the collision resolution technique of hashing?

. Quadratic probing
. Double hashing

. Chaining

. Folding

[

S 1

Al:1
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A2:2

A3:3

Ad:4

Objective Question
73530820

31_|_Live_Eng_401-800.html

We describe different parts of an email as subject, recipient, main body and attachment. Which of the following is correct to deseribe such

type of data?

1. Meta-data

2. Structured data
. Organized data
. Detailed data

N )

Al:1

A2:2

A3:3

A4 :4

Objective Question

736 30821 i
A file system suffers from-

A. Data restriction

B. Data inconsistency

C. Data isolation

D. Data dependence

E. Controlled data sharing

Choose the correct answer from the options given below:

1. (A). (B). (C) and (D) only.
2. (B). (C). (D) and (E) only.
3. (A), (B), (C), (D) and (E).
4. (B). (C) and (D) only.

Al:1
A2:2
A3:3
A4 4

Objective Question

73730822 i . B
Which of the following is not a DBMS software?

1. MongoDB

2. Microsoft Access
3. PostgreSQL

4, Table
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Al:1

A2:2

A3:3

Ad:4

Objective Question

738 30823 : ; i
Match List I with List IT
LISTI LISTII
[Returns the position of the first
A ITRIM(String) I Joccurence of the substring in the given
string.
[INSTR(String, Returns the number of characters in
B. d I : :
substring) the specified string.

Returns the given string after
C. [RIGHT (String. N} [III jremoving both leading and trailing
fwhite Space characters.

- e . [Returns N number of characters from
B [ ENE Ry " Ithe right side of the string.

ey
-

Choose the correct answer from the options given below:

- (A) - dID. (B) - (AIV). (C) - (D). (D) - (II)
-(A)- (). (B) - (II). (C) - V). (D) - (II)
-(A) - dID. (B) - (1). (C) - AV). (D) - (II)
(A) - (D. (B) - (). (C) - (I). (D) - (IV)

e

Al:1
A2:2
A3:3
Ad:4

Objective Question

73930824 ; " B4 : ;
Which of the following is not the service provided through Internet?

. World Wide Web (WWW)

. Electronic Mail (Email)

3. Voice over Internet Protocol (VoIP)
4. Programming Language

[

Al:1

A2:2

A3:3

Ad:4

Objective Question
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740 30825 i " B3 i i
Which of the following is used to create the basic structure of a web pages?

. HTML

st
t‘?A
+

Al:1

A2:2

A3:3

A4 :4

Objective Question

741808261 Lol in the blank-

import pickle
t=open("data.dat"."rb")
d= Jdoad(f)

f.close()

. unpickle
. pickling
. pickle

. pick

[ R

S ]

Al:l
A2:2
A3:3
Ad:4

Objective Question

742 30827 H . i g : .
Which of the following is the process of transforming data or an object in memory (RAM) to a stream of bytes called byte streams?

1. De-serialization
2. Loading

. Serialization

. Unpickling

S

Al:1

A2:2

A3:3

Ad:4
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Objective Question

743 30828 ; 3y
Data CONSISIency occurs when-

1. Same data maintained in different places do not match.
2. There is no same type of data.

. If data is deleted from all the locations.

. When at the same time data is entered at different places.

o

Al:1

A2:2

A3:3

Ad:4

Objective Question

744 30829 i . i
Which of the following statements are correct?

A. Foreign key can't take NULL value.

B. Tuples are ordered in a relation as it is stored in tabular form.
C. Each tuple in a relation is distinet,

D. Sequence of attributes in a relation is immaterial.

Choose the correct answer from the options given below:

. (A) and (B) only.
. (A). (B) and (D) only.
. (A) and (C) only.
. (C) and (D) only.

S

Al:1

A2:2

A3:3

A4 4

Objective Question

74530830 : ; : i
The set of permitted values for each attribute is called its-

. Attribute
. Tuple

. Domain
. Degree

o =

IS )

Al:1

A2:2

A3:3
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Ad:4

Objective Question

746 30831 i " B3 ; i
Which of the following is not an example of single row function?

. Numeric function

. String function

. Date function

. Aggregate function

o =

S

Al:1
A2:2
A3:3
A4 4

Objective Question

747 30832
The SQL query-

Select Count(*) from Inventory Where Model = "VXI":

A. displays the total number of different types of models.

B. displays the total number of records from table inventory having a model as VXI.
C. displays the average number of all the cars with model VXI.

D. displays the maximum number of a car with model VXI.

Choose the correct answer from the options given below:

1. (A) and (B) only.
2. (B) only.
. (A) and (C) only.
. (D) only.

RS

Al:1
A2:2
A3:3
Ad:4

Objective Question
74830833
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Match List I with List IT

LISTI LIST II
A Mesh toplogy | 1. [All nodes are connected with single backcone wire.
B. |Tree topology | II. [Hybrid topology
C. |Bus topology | IIL [Data transmission is unidirectional.
D. [Ring topology | IV. n(n-1)/2 number of wires are required, if there are n nodes|

Choose the correct answer from the options given below:

L.(A) - (IV). (B) - (D). (C) - (III). (D) - (I)
2.(A) - (@V). (B) - (IT). (C) - (D). (D) - (III)

3.(A) - D). (B) - AV). (C) - (I). (D) - (II)
4.(A)-(@V). (B) - (D). (C) - (1). (D) - (III)

Al:1

A2:2

A3:3

Ad:4

Objective Question
74930834

Which of the following device is preferred to connect each computer in each block for network connectivity?

1. Repeater
2. Firewall
3. Switch

4, Modem

Al:1
A2:2
A3:3
A4 4

Objective Question
750 30835

A network formed by connecting a few personal devices like computers

18-

1. Local Area Network
2. Personal Area Network

o

Al:1

A2:2

A3:3

. Metropolitan Area Network
. Wide Area Network
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A4 4

Objective Question

751 30836 3
In SQL, the count(*) function-

. Returns the sum of the values for the specified column.

. Returns the number of records in a table.

. Returns the current system date and time.

. Returns the number of values in the specified column ignoring the NULL values.

[

S P

Al:1

A2:2

A3:3

Ad:4

Objective Question

5 . . s
752130837 Match List I with List IT

LISTI LISTII
. [DataFrame.index | I |To display the datatype of each column in a DataFrame |
[DataFrame shape | II. |To display the row labels of a DataFrame.
[DataFrame T II1. |To display the dimensions of a DataFrame.
. [DataFrame dtypes| IV. |To transpose the DataFrame.

=l el [l b

Choose the correct answer from the options given below:

L(A)-(D. (B) - (ID). (C) - (II). (D) - (IV)
2.(A) - (@V). (B) - (TID). (C) - (ID). (D) - (1)

3.(A)- (D). (B) - (IIN). (C) - (IV). (D) - (I)
4.(A) - (D). (B)-AV). (C) - (). (D) - II)
Al:1
A2:2
A3:3
A4:4

Objective Question

75330838 § i :
Consider the given series-

Index|Value from SeriesA [Value from SeriesB
b -10 0

What will be the output of the code given below-
= SeriesA*SeriesB

=10
0

3. NaN
4.10

[
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Al:l
A2:2
A3:3
Ad:4

Objective Question

754 30839 ; ; :
Identify the valid command to install Pandas-

1. pip install pandas

2. pip pandas

. pip python install

. python install pandas

S V1

Al:1

A2:2

A3:3

Ad:4

Objective Question

755 30840 ; : i § 7 4
Changing the shape of the dataset can be possible with which of the following function?

A. Pivot

B. Aggregate
C. Pivot table
D. DataFrame

Choose the correct answer from the options given below:

. (B) and (D) only.
. (A) and (D) only.
. (A) and (B) only.
. (A) and (C) only.

b =

)

Al:1

A2:2

A3:3

A4:4

Objective Question
75630841
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What is the default color for Matplotlib plot?

.Red
. Blue
. Green
. Black

a0 BD =

Al:1
A2:2
A3:3
Ad:4

Objective Question

757 30842 A : : : :
Symbol. which represents data value (point) in a line chart. is called-

1. Ticks

2. Marker

. Title

. Data Labels

S PV

Al:l
A2:2
A3:3
Ad:4

Objective Question

758 30843 i ;
In bus topology. the cable to which the nodes connect. is called-

. Backbone
. Backwire
. Mainwire
. Busbone

b =

RS V1

Al:1
A2:2
A3:3
A4 :4

Objective Question
75930844
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Consider the following statement about IP address version 4 (IPv4)

A Ttis 32 bit numeric address.

B. Each number is the decimal (base 10).
C. Itis 128 bit IP address.

D. It is hexadecimal number (base 16).

Choose the correct answer from the options given below:

. (A) only.

. (A) and (B) only.

. (B). (C) and (D) only.
. (A). (B) and (C) only.

R

Al:l
A2:2
A3:3
Ad:4

Objective Question

760 30845 ; ’ G ;
Which of the following is not a net etiquettes?

1. No copyright violation
2. Avoid cyber bullying

. Respect data limits

. Respect privacy

S P

Al:1
A2:2
A3:3
A4 :4

Objective Question

76130846 i " B G T3
Which of the following is done by cyber criminals?

A. Unauthorized account access

B. Mass attack using trojans as botnets
C. Email spoofing and spamming

D. Report vulnerability in any system

Choose the correct answer from the options given below:

. (A) only.

. (A) and (B) only.
.(A). (B) and (C) only.
. (A). (B) and (D) only.

P

Al:1
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A2:2

A3:3

Ad:4

Objective Question

76230847 : - :
In a broad sense, a railway track 1s an example of-

. Simplex

. Half-duplex
. Full-duplex
. Complex

o o=

S

Al:1
A2:2
A3:3
A4 4

Objective Question

76330848 ; S, %
Multiplexing is-

. the process of inereasing bandwidth on a channel.

. a technique that enables more than one data source to share the use of a common line.

1

2

3. mailing letters at the post office.

4. the capability to share frequency by time.

Al:1
A2:2
A3:3
A4 4

Objective Question

76430849 i . B4 i g
Which of the following is used to ensure confidentiality of data?

. Data encryption
. Data locking

. Data deletion

. Data backup

B0 =

Al:1

A2:2

A3:3
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A4 4

Objective Question

76530850 S g s
One common way to maintain data availability is-

1. Data clustering
2. Data backup

. Data recovery
. Data altering

JS

Al:1
A2:2
A3:3
A4 4

Objective Question
766 30901 . ; ;
Arrange the following in the descending order of their value
A. GDPg
B. PDI (Personal Disposable Income)

C. Personal Income
D. GDPyp

Choose the correct answer from the options given below:

I\-J!—‘
OOpp

gl
WO W

et i
owWwnw

Al:l
A2:2
A3:3
Ad:4

Objective Question
76730902
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Which of the following statement/ statements is/are incorrect?

A. Exchange of commodities without the mediation of money is called as medium of exchange.

B. Fiat money is money with no intrinsic value.

C. M; and M, also known as Narrow money.

D. Legal tender money issued by government and commercial banks.
E. Sales/ purchase of government securities by commercial banks.

Choose the correct answer from the options given below:

.A. B Only
.A. D, E Only
3. A B Only
4. B Only

o —

Al:1

A2:2

A3:3

Ad:4

Objective Question

76830503 Match List I with List IT

" lresources- remuneration

LISTI LIST II

A Com:nbunpn made by human labour- 1 IRent
remuneration

B. Com:nbunpn made by capital 1T wvage
remuneration =

c Contribution m_ade by _ i
entreprencurship- remuneration

D Contribution made by fixed natural 1V IProfit

Choose the correct answer from the options given below:

1. A-I. B-IIL C-II. D-IV
2. AL B-IV. C-I. D-IT
3. A-IL B-IIL. C-IV. D-I
4. A-IV. B-I. C-III. D-IT

Al:1
A2:2
A3:3
A4 4

Objective Question
76930904
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Private sector employing more than hired workers is called formal sector establishment.

15
10
20
05

O

Al:1
A2:2
A3:3
Ad:4

Objective Question

770 30905 ; = . 5 - i ;
In the context of rise and fall of Rs.2.000 currency note in Indian Economy. arrange the following events in chronological order.

A. Old currency notes Rs.500 and Rs.1000 no long legal tender.

B. RBI decided to withdraw Rs.2000 notes under clean note.

C. In 2018-19. RBI stopped printing Rs.2000 notes.

D. There was a need to tackle the problem of corruption, black money and circulation of fake currency.
E. New currency note in Rs.2000 denomination were launched.

Choose the correct answer from the options given below:

LA G 1. BB
2.B.A.C.E.D
FORRLAGE B
4. A B C:B

Al:1

A2:2

A3:3

A4 :4

Objective Question

771 30906 i g i
Which are the components of Receipt and Expenditure statement of the government.

A. Revenue Receipt
B. Revenue Deficit
C. Capital Defieit
D. Fiscal Defieit

E. Primary Deficit

Choose the correct answer from the options given below:

1.A.B.D.E Only
2.A.B,C.D.E Only
3.B.C.D.E Only
4.A.C.D.E Only

Al:1
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A2:2

A3:3

A4 :4

Objective Question

77230907 : - ;
Match List I with List IT

LISTI LIST IT
A [Public good I. Paspal car
B. [Private good II. Produced by Government
C. [Public Provision III. [National Road
D. |Public Production IV. [Financed by government

Choose the correct answer from the options given below:

1. A-I, B-ITL, C-II. D-IV
2. A-IV, B-I1. C-1. D-III
3. AL B-I. C-IV. D-IT
4. A-II. B-IV. C-I11. D-I

Al:l
A2:2
A3:3
Ad:4

Objective Question

773 30908 ; . B4
Which of the following is not a component of Balance of Payments?

. Capital Account
. Credit Account

3. Current Account
4. Official Reserve

b2 =

Al:1

A2:2

A3:3

A4 :4

Objective Question
77430909
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Arrange the following according to the year of introduction in ascending order.

A. First census done by Britishers
B. Railways

C. Tata Airlines

D. Suez Canel

E. TISCO

Choose the correct answer from the options given below:

1.B,D,A,E,C
2.B,A,C.E,D
3.A,D,C.B,E
4.A.D.B.C.E

Al:1

A2:2

A3:3

Ad:4

Objective Question

775 30910 ; i :
Pick out correct statement related to Pradhan Mantri Jan-Dhan Yojana.

A. Tan-Dhan Yojana is to provide basic amenities to the poor people.

B. Promote saving habit, and intends to transfer all the benefits of government schemes.
C. Account holder is entitled to Rs.1 Lakh accident insurance.

D. Tan-Dhan Yojana provide minimum 150 days work in a year.

E. Jan-Dhan Yojana provide food grains at subsidised rate.

Choose the correct answer from the options given below:

1. A& B Only
2.B & E Only
3.D & E Only
4.B & C Only

Al:1
A2:2
A3:3
A4 4

Objective Question
776 30911
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Match List I with List IT
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LISTI LIST II

A Monotonic preference | 1. [Positively related to its price
[Demand curve of Measure of responstveness

B[ IO.[:z 3 '
|giffen goads lof demand with respect to price

C. [Vertical demand curvel 1L Consumer preference between two

lbundle
D. [Elasticity of demand | IV. |Constant elasticity of demand

Choose the correct answer from the options given below:

1. A-III. B-I. C-IV. D-II
1. AL B-I. C-IL. D-IV
3. A-IV. B-I. C-II. D-III
4. A-IV. B-I. C-III. D-II

Al:1
A2:2
A3:3
A4 :4

Objective Question

777 30912
are known as broad money.

1. My, M3, M,
2. M;
. M3 and M,
M,

=

Al:1

A2:2

A3:3

A4:4

Objective Question

778 30913 i ; - E
Arrange the following according to the year of introduction:

A. Delhi Electric Supply undertaking
B. Delhi Vidyut Board

C. Tata Power Limited

D. Delhi State Electricity Board

Choose the correct answer from the options given below:

1. 1D, A, B, €
2.A,.D.B.C
3. D.AC.B
4.D.C.A.B
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Al :

A3:

Objective Question

779 30914

The Demand Curve is a relation between

Choose the correct answer from the options given below:

Al:
A2:
A3:

A4 :

A. Desire and availability
B. Price of Goods

C. Quantity of Goods

D. Supply of Goods

E. Number of unit produce

R

Objective Question

780 30915

Match List I with List IT

.A.B.C &D Oaly
.B & C Only

.A.B.D & E Only
.A . B.C.D.E Ounly

31_|_Live_Eng_401-800.html

LISTI LIST II
A. [Ex-Ante I. |at a point of time
B. [Flow I1. |defined over period of time
C. [Export I1I. |planned
D. [Stock IV. lactual

Choose the correct answer from the options given below:

Al:

A2:

A3:

A4

1. A-IIL. B-II. C-IV. D-1
2. A-IL B-IIL. C-1. D-IV

3. A-IIL B-IV. C-I1. D-I
4. A-II. B-L. C-IV, D-III
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Objective Question

781 30916 7 i : §
Suppose a country produces only bread. In 2000, 100 units were produced at Rs.10 price per bread. Whereas in 2001, 110 units produced

at Rs.15 per bread. Find out GDP deflator.

. 0.65
.. 1.65
. 0.66
. 1.50

B B

Al:1
A2:2
A3:3
A4 4

Objective Question

78230917 3 , ; i i
Arrange them in order of their happening/ introduction.

A. Appiko Movement

B. The Delhi State Electricity Board

C. International Agreement to fight Global Warming' a result of a UN conference on climate change. held in Kyoto, Japan.
D. Central Pollution Control Board

Choose the correct answer from the options given below:

1.D,C,B,A
2:CD, A B
3.A.B.C.D
4.B.D,A.C

Al:1l

A2:2

A3:3

Ad:4

Objective Question

78330918 _. i . ; ;
Financial sector includes which of the following:

A, Investment Bank

B. Stock market

C. Non-Banking Financial Corporations (NBFC's)
D. Financial consultancies

Choose the correct answer from the options given below:

1LA.B.C &D Only
2.A.B &D Only
.B.C & D Ouly
.A. B & C Ouly

SN P

Al:l
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A2:2

A3:3

A4 :4

Objective Question

31_|_Live_Eng_401-800.html

78430919 Match List I with List IT
LISTI LISTII
A [Maharatnas 1. |Bharat Aluminium Corporation
B. [Navratna II. |Steel Authority of India Limited
C. Miniratnas III. [Hindustan Aeronautics Limited
D. |Company IV JAirport Authority of India

Choose the correct answer from the options given below:

1. A-IL. B-III. C-IV. D-1
2. AL B-I. C-ILL. D-IV

3. A-IV. B-II. C-II1. D-I
4. A-L B-IV. C-II. D-III

Al:1

A2:2

A3:3

A4 :4

Objective Question
78530920

Which of the following is the market in which national currencies are traded.

[ S

. IMF

. Foreign exchange market

3. Fixed exchange rate market
4. Flexible exchange rate market

Al:1

A2:2

A3:3

Ad:4

Objective Question
78630921
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Mangoes
MP,

—

MP/ MP, Bananas

If Budget line MP4- MP; moves to MP;-MP2. The reason for the movement:-

. Banana price decreased
. Banana price increased
. Mango price increased

. Mango price decreased

R

Al:1

A2:2

A3:3

Ad:4

Objective Question

78730922 _. ;
Find the GDP by income method when there are only two firms.
Firm A Firm B
Wages 30 70
Profits 50 90

100
140
220

240

= Bk

Al:1

A2:2

A3:3

Ad:4

Objective Question
78830923
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Private Final Consumption Expenditure = 72.382
Govt. Final Consumption Expenditure = 14.544
Change in Stock = 3.01
Gross fixed capital formation = 37.55
Valuables = 2.54

Find Investment:

1.43.1

2.44.20
.43.80
. 44.80

)

Al:1
A2:2
A3:3
A4 4

Objective Question

789 30924 W ; :
In . reforms were initiated in Pakistan.

. 1970
1991
. 1980
. 1988

e

Al:1
A2:2
A3:3
Ad:4

Objective Question

790 30925 T i
Gross Value Added (GVA) at market price is equivalent of

. GVA at basic price- Net production taxes
. GVA, p- Net product taxes

. GDP at market price
. NDPy p= GDPy p- Dep.

B

Al:1
A2:2
A3:3
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A4 4

Objective Question

79131001 .
Threads on one end of a rod and head at the other end is known as

1. Bolt

2. Nut

3. Flange

4. Plain Washer

Al:l
A2:2
A3:3
Ad:4

Objective Question

792 31002 % ; 3 g ; i i
In Isometric Projection all the three principal axes appears to be inclined to each other at an angle of

30°
60°
< 1207
90°

B

Al:1

A2:2

A3:3

A4 4

Objective Question
79331003
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Choose the correct statement for the given isometric projection:

75

wm
3fe

F;

{ /
o

LY

r"

ey
e
') \
X/»\

&
/

1. A triangular Pyramid is resting on its base on H.P.

2. A triangular prism is resting on its base on H.P.

3. A triangular prism is resting on one of its long edges on H.P.

4. A triangular Pyramid is resting on one of its long edges on H.P.

Al:1
A2:2
A3:3
A4 4

Objective Question

794/ 31004 . .
Choose the correct statement for the given figure:

-~

1. Axis of triangular pyramid is parallel to H.P.
2. Axis of pentagonal pyramid is parallel to V.P.
3. Axis of triangular prism is parallel to V.P.

4. Axis of triangular pyramid is parallel to V.P.
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Al:l
A2:2
A3:3
Ad:4

Objective Question

79531005 ;
Choose the correct statement for given figure:

1. A hexagonal prism is resting on a circular slab.

2. A circular slab is resting on H.P. with its curved surface.

3. A hexagonal pyramid has six rectangular faces.

4. Two base edges of hexagonal pyramid are perpendicular to V.P.
Al:1
A2:2
A3:3

Ad:4

Objective Question
79631006
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Choose the correct statement for the given figure:

1. Two of the base edges of square prism are perpendicular to V.P.
2. One of the base edges of triangular pyramid is perpendicular to V.P.
3. Two of the base edges of triangular prism are perpendicular to V.P.
4. Two of the base edges of square prism are parallel to H.P.

Al:l

A2:2

A3:3

Ad:4

Objective Question

79731007 ; .
1s the edge of the thread surface farthest from axis in case of external V- thread and

nearest to axis, in case of internal V- thread.

1. Root
2. Crest
3. Flank
4. Lead

Al:1
A2:2
A3:3
Ad:4

Objective Question
79831008
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In B.S.W. thread, if pitch is 50 mm then D (theoretical depth) is equal to

Al:l
A2:2
A3:3
Ad:4

Objective Question

799 31009 i
Knuckle threads are used in :

1. Screw Gauge

2. Boiler Structures

3. Neck of Glass bottles
4. Screw Jack

Al:1
A2:2
A3:3
A4 4

Objective Question

80031010 __ . ; . ,
It is a hexagonal prism provided with a threaded hole:

1. Hexagonal Bolt
2. Hexagonal Nut
3. Square Bolt
4. Square Nut
Al:l
A2:2

A3:3

Ad:4
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